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- pO 4224+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

-1 nui gbae+ud | 25
- pO 4242+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

- pO
p1

T nui yzze+ud [ 25
4238+ 0.0
-36.5+ 0.0

TP delay [ns]
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1000

TVC(cbch) (0,7,2)

K™ 1 nui rose+u4 / 25
_- po 4234+ 0.0
o pl -37.96+ 0.00

3000

TP delay [ns]

TVC(cbch) (07,6

1000

- rnugzgle+u4 [ 25
- pO 4224+ 0.0
[ pl -35.28+ 0.00

TP delay [ns]

TVC(cbch) (0, 7 10

1000

0

© 1 nug.pyve+ud | 25
4257+ 0.0
-36.1+ 0.0

1
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TP delay [ns]

TVC(c,b ch) (o, 7

F= b
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©1nuiLguze+u4 [ 25
4238+ 0.0
-35.73+ 0.00
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TVC(cbch) (0,7,3

AT 1L Baoe+u4 [ 25
- po 4231+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

- rnuZole+ud / 25
- pO 4219+ 0.0
p1 -34.68+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, mbe+u4/25
= po 4259+ 0.0
pl -36.96 + 0.00

TP delay [ns]
TVC(c,b Ch) (0, 7 15)
TinuiLyise+ud [ 25
= pO 4250+ 0.0
-36.12+ 0.00

TP delay [ns]
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AT 1nuiazze+04 /25
', po 4214+ 0.0
p1 -36.1+ 0.0
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TVC(cbch) (08,4
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- i 333e+04 / 25
pO 42174 0.0
p1 -34.94 + 0.00
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TP delay [ns]

TVC(cbch) (O 8,8
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©1nuzyose+ud | 25
4238+ 0.0
-36.4 + 0.0

0

1
50 100

TP delay [ns]

TVC(cbch) (0,812

4000 s,
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T rnuiLygr4e+04 /25
pO 4255+ 0.0
pl -37.04 + 0.00
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TVC(cbch) (0,81

x- 1 L dove+ud | 25
P, po 4200+ 0.0
pL -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nui48/e+04 [ 25
- pO 4211+ 0.0
p1 -34.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nuw. Zbbe+ud | 25
- po 4253+ 0.0
pl -35.87 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

T inuig3ve+ud [ 25
= pO 4265+ 0.0
pl -37.03+ 0.00

TP delay [ns]
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1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

K™ 1 nui4ose+04 / 25
__— po 4212+ 0.0
o pl -35.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

1000

- i, r84e+04 [ 25
- pO 4234+ 0.0
[ pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T g, r45e+04 / 25
__ DO 4281+ 0.0
- pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

T i, ruse+u4 / 25
- pD 4263+ 0.0
L pl -37.43+ 0.00

TP delay [ns]
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TVC(cbch) (0,8,3

AT 1 nuiLovoe+ud [ 25
- po 4230+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui blye+u4 / 25
4239+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (0, 8

ERALEVX bzze+u4/25
= pO 4274+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(C, bch) (0,815

-1 nui pbae+ud / 25
- pO 4256+ 0.0
pl -36.44 + 0.00

TP delay [ns]
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TVC(cbch) (0,9,0

K™ nuiaoze+04 /25
., po 4183+ 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(cbch) (0,9,4

T rnuiLa4/e+04 / 25
pO 4181% 0.0
pl -35.38:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

Tz pe+u4 | 25
po 4216+ 0.0
pl -35.37 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,9,12

T rnuiLg3se+u4 / 25
pO 4220+ 0.0
pl -35.25+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1L ssoe+ud [ 25
- po 4178+ 0.0
p1 -34.89+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui bzze+u4 [ 25
pO 4199+ 0.0
pL -35.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

T inue.z3/e+u4 /25
4211+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,9,13

T nai guse+ud / 25
- pO 4197+ 0.0
pl -34.38 + 0.00

TP delay [ns]
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1000

TVC(cbch) (0,9,2)

A~ 1nuiosre+ud /25
- po 4199+ 0.0
L p1 -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,9,6

- 533e+04 / 25
- pO 4199+ 0.0
3 pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T nuizgu/e+u4 [ 25
F po 4248+ 0.0
o pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T gr4e+04 /25
[F-e. pD 4208+ 0.0
L p1 -34.07 + 0.00

TP delay [ns]
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TVC(cbch) (0,9,3

A7 1L bobe+ud /25
- po 4200+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nui yule+ud / 25
e, pO 4216+ 0.0
pL -36.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

EEALEVX U‘Jbe+U4/25
- pO 4246+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nui goze+ud [ 25
= po 4223+ 0.0
p1 -34.85+ 0.00

TP delay [ns]
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TVC(CbCh) (o, 10 0)

©rnuiLg4ue+U4 [ 25
e, pO 4208+ 0.0
p1 -34.1+ 0.0

TP delay [ns]

TVC(cbch) (0,104

~ i 714e+04 / 25
- pO 42254 0.0
pl -36.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T 1L, rzge+04 | 25
4214+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,10, 12

T Ly roe+u4 / 25
= po 4259+ 0.0
pl -36.58 + 0.00
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e, po 4205+ 0.0
pL -34.26+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,5

-1 nui Bage+u4 [ 25
- pO 4233+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

T inuig 3 rze+u4 [ 25
= po 4232+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T inai rsge+ud [ 25
- pO 4253+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

T L B4 /e+u4 [ 25
- pO 4235+ 0.0
[ pl -36.67 + 0.00

A7 1 nun 4sae+04 /25
. po 4213+ 0.0
o pl -346+ 0.0

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

©1nuz.403e+04 / 25
=, po 4253+ 0.0
- pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0.10, 14
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T L ysve+ud / 25
- pD 4262+ 0.0
L pl -36.85+ 0.00
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AT rnuiLzare+ud [ 25
s, po 4228+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

-1 nuz.uble+ud / 25
- pO 4258+ 0.0
pL -37.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (o, 10 1

-1 nuiyyle+ud / 25
= pO 4249+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (0,10,15

-1 nui suoe+ud / 25
4256+ 0.0
-37.1+ 0.0

PR PR S S |
50 100

TP delay [ns]
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TVC(CbCh) (0,11,0)

A1 nui 4ove+04 / 25
— po 4157+ 0.0
p1 -34.57 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (0,11,4

-1 z94e+04 / 25
- pO 4164+ 0.0
p1 34+ 0.0

TP delay [ns]

TVC(cbch) (0, 11 8

L ysze+u4 | 25
= po 4186+ 0.0
pl -34.63 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,11, 12

K71 nui osze+u4 /25
- po 4212+ 0.0
pl -35.62+ 0.00
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TVC(Cbch) (0,11,1)

A 1L 403e+u4 [ 25
- po 4160+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

“nui4/ze+04 [ 25
4190+ 0.0
-34.8 % 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

<1 nup.zobe+ud [ 25
= po 4209+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T nuib4¥e+ud [ 25
== pO 4205+ 0.0
p1 -35.43+ 0.00

TP delay [ns]
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TVC(CbCh) (0,11, 2)

A7 1 nun 4sae+04 /25
— po 4174+ 0.0
o pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

1 nuiL484e+04 | 25
- pO 4212+ 0.0
u pl -35.89 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuza53e+04 [ 25
= po 4197+ 0.0
F pl -34.22 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

K™ 1 nuiLo1Ye+u4 /25
= po 4217+ 0.0
L p1 -36+ 0.0

TP delay [ns]
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TVC(cbch) (0,11,3)

A1 L sLlerud ] 25
== po 4184+ 0.0
p1 -34.97+ 0.00

TP delay [ns]

TVC(cbch) (0,11,7

=1 nui b3be+u4d / 25
- pO 4196+ 0.0
p1 -34.13+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- -1 nuiL gyye+ud 25
= pO 4214+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

T nui aoge+ud [ 25
= pO 4211+ 0.0
p1 -34.76 + 0.00

TP delay [ns]
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TVC(CbCh) (o, 12 0)

© i gove+u4 [ 25
.. pO 4207+ 0.0
pl -35.34+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,124

-1 i 4pze+04 / 25
- pO 4216+ 0.0
p1 -37.72:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (0, 12 8

Tz 103e+04 / 25
- pO 4204+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T o1e+u4 /25
= po 4219+ 0.0
pl -35.57 + 0.00
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TVC(chh) (0,12,1)

AT 1nuiLoz/e+u4 | 25
P, po 4217+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(cbch) (0,125

-1 nui 38Ye+u4 / 25
e pO 4208+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVCEbeh)=(0, 12,9

T nup.ylse+ud / 25
4224+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(cbch) (012,13

T nui osze+ud | 25
- pO 4221+ 0.0
pl -36.07 + 0.00
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TVC(CbCh) (0,12,2)

X~ rnun L 31e+ud [ 25
_- po 4213+ 0.0
L pl -36.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

S i rzoe+V4 [ 25
e pO 4212+ 0.0
[ pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

© 1, ro4e+04 [ 25
. po 4237+ 0.0
- pl -36.35+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T i, ro5e+U4 / 25
- pD 4228+ 0.0
L p1 -35.69 + 0.00
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TVC(Cbch) (0,12,3)

AT rnuiL41se+u4 [ 25
- po 4237+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nui r4pe+04 / 25
- pO 4240+ 0.0
pL -37.15+ 0.00

50 100
TP delay [ns]

TVC(eh,eh)=(0, 12, 11

T nuiz 3use+u4 / 25
- pO 4249+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T 1 nui poae+ud [ 25
- po 4228+ 0.0
p1 -36.19+ 0.00

TP delay [ns]
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TVC(CbCh) (o, 13 0)

T za0e+ud /25
pO 4216+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (0,134

Ty e+u4 [ 25
pO 4235+ 0.0
pl -36.96+ 0.00

- C A
o s
TP delay [ns]
TVC(c,b, ch) (0, 13 8)
T g zzoe+u4 [ 25
e, pO 4262:‘
pL -34.41+ 0.00
[C=29.06 [ps/ch] ™, ]
L 10‘0

0

TP delay [ns]

TVC(cbch) (0,13, 12

T, 41e+04 /25
pO 4251+ 0.0
pl -34.42+ 0.00
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TVC(chh) (0,13,1)

AT 1 nuzusLe+ud [ 25
po 4214+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c, bch) (0,135

-1 nui4nze+04 [ 25
pO 4238+ 0.0
37+ 0.0

1(;0
TP delay [ns]

TVC(c,b ch) (0, 13

T nai s rge+ud [ 25
po 4285+ 0.0
p1 -34.43+ 0.00

1
100

TP delay [ns]

TVC(cbch) (013,13

T nuiz.os3e+ud [ 25
pO 4252+ 0.0
pl -35.76 + 0.00
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K71 nuig 1o4e+04 / 25
po 4220+ 0.0
pl -35.49 + 0.00
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TP delay [ns]

TVC(cbch) (0.13,6

- rnuz,uzse+u4 | 25
pO 4259+ 0.0
pl -37.18+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 13 10

T 1nug.447e+04 | 25
po 4303+ 0.0
p1 -34.69 % 0.00

1
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TP delay [ns]

TVC(cbch) (0.13,14

1 nuizpgoe+ud | 25
pD 4250+ 0.0
pl -35.04 + 0.00
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TVC(Cbch) (0,13,3)

AT 1z sube+ud [ 25
po 4239+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(c, bch) (0,13,7

- 1nuz31e+u4 / 25
pO 4251+ 0.0
pL -36.51% 0.00

1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

T inug.z13e+04 / 25
pO 4303+ 0.0
-35.7+ 0.0

1
100

TP delay [ns]

TVC(cbch) (0,13,15

-1 nuiz.yyoe+ud / 25
pO 4268+ 0.0
p1 -36.55+ 0.00

TP delay [ns]
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T rnuiLp4le+u4 /25
P pO 4182+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (0,144

- i b3ze+u4 [ 25
pO 4202+ 0.0
p1 -34.64+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

1 nuig.gove+u4 / 25
= po 4202+ 0.0
pl -35.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,14,12

T, rzse+u4 | 25
= po 4223+ 0.0
pl -35.96 + 0.00
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A7 1 nuiLbyoe+ud [ 25
- po 4195+ 0.0
pl -35.77+ 0.00

TP delay [ns]

TVC(c, bch) (0,145

=1 i byye+u4 / 25
e pO 4206+ 0.0
p1 -34.86+ 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

T nui sb3e+ud / 25
= po 4219+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13

T nai rope+ud / 25
- pO 4225+ 0.0
pl -36.35+ 0.00
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TVC(CbCh) (0,14,2)

1000

AT 1nuir30e+04 /25
- po 4200+ 0.0
L pl -35.86 + 0.00
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TVC(cbch) (0.14,6

1000

- rnuby1e+ud / 25
- pO 4205+ 0.0
[ pl 34 0.0

TP delay [ns]

TVC(cbch) (0, 14 10

1000

0

1 nuzgobe+u4 | 25
-, po 4231+ 0.0
L pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (0. 14,14

T r3re+u4 /25
[F-e. pD 4239+ 0.0
L p1 -37.12+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT 1L buse+ud /25
- po 4197+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- nui /84e+04 / 25
- pO 4206+ 0.0
p1 -34.55+ 0.00

TP delay [ns]

TVC(ehch)=(0, 14, 11

~ 1 nuiz.usae+ud [ 25
= po 4230+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

Tnair33e+u4 [ 25
- pO 4244+ 0.0
p1 -37.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

T L, sspe+u4 [ 25
e, pO 4194+ 0.0
pl -33.59+ 0.00

TP delay [ns]

TVC(cbch) (0,154

T 140e+04 /25
- pO 4209+ 0.0
pl -35.99+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

1 nuiz.z04e+04 | 25
= po 4218+ 0.0
pl -35.27 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (0,15, 12

T, rsse+u4 / 25
= po 4229+ 0.0
pl -34.86 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

AT rnunLizoe+ud [ 25
- po 4193+ 0.0
pl -33.07 + 0.00

TP delay [ns]

TVC(cbch) (0,155

=1 i byye+ud / 25
e, pO 4211+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

T nup.183e+U4 / 25
- po 4256+ 0.0
pl -35.36 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.15,13

T nuiLpsbe+ud / 25
= pO 4219+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

- P

AT 1nuiazse+04 /25
4215+ 0.0

TP delay [ns]

TVC(cbch) (0.15,6

pl -35.29+ 0.00

1L/ re+04 [ 25

- pO 4217+ 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

1000

0

- b

1 nuiz, (33e+04 / 25

pl -36.06 + 0.00

4275+ 0.0

TP delay [ns]

TVC(cbch) (0,15, 14

1 nuiL s be+ud [ 25

- pD 4216+ 0.0
[ p1 -34.39:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

x- 1 L 22ae+U4 | 25
P, po 4210+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

- i obe+u4 / 25
- pO 4233+ 0.0
pL -36.56+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

-1 nuiLyuoe+u4 / 25
- po 4252+ 0.0
p1 -34.41+ 0.00

TP delay [ns]

TVC(cbch) (0,15,15

<1 nui voge+ud / 25
4226+ 0.0
-34.91+ 0.00

TP delay [ns]



TVC(cbch) (1,0,0

4000 [

3000

2000

1000

K™ 1 nuiooie+u4 /25
., po 4182+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(cbch) (10,4

4000 [,

- i Se3e+04 / 25
', pO 4164+ 0.0
pl -35.94 + 0.00

3000~ 7]
2000 - 7
1000~ C 7]
0 EY 00
TP delay [ns]
TVC(cbch) (10,8)
T nun L¥be+u4 /25
4000 [, pD 4187+ 0.0
pl -34.33 + 0.00

3000

2000

1000

0

0

TP delay [ns]

TVC(cbch) (1,0,12

4000 [

3000

2000

1000

T L, 44e+04 / 25
pO 4200+ 0.0
pl -34.93+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

A1 Lo (e+Ud ] 25
pee,, po 4184+ 0.0
pL -36.8+ 0.0

[ C=27.17 [psic ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (1, O

-1 nui byge+u4 [ 25
e, pO 4173+ 0.0
pl -35.41+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

T nun.Usie+ud / 25
= po 4209+ 0.0
p1 -34,53+ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

T inuizuz/e+ud [ 25
= pO 4200+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,0,2)

A7 1 nui ouse+u4 / 25
P po 4178+ 0.0
- pl -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

-1 i boze+u4 / 25
4183+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 0 10

1 nuz 3yve+u4 | 25
= po 4227+ 0.0
[ p1 -34.74+ 0,00

3000

TP delay [ns]

TVC(cbch) (1,0,14

Ty rze+u4 [ 25
= pD 4213+ 0.0
L p1 -37.24+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT Lo roe+ud [ 25
- po 4201+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nuiglie+u4 / 25
e, pO 4193 0.0
pL -36.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T auze+u4/25
= po 4235+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

-1 nui ybae+ud / 25
= pO 4206+ 0.0
-36.41+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A7 nuin4se+04 /25
4174+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(cbch) (11,4

-1 nuiL4y3e+u4 / 25
4174+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

<o 1 rse+ud | 25
4194+ 0.0
-34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,12

1L pude+ud | 25
4210+ 0.0
-36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

=, po

p1

A 1L 4zoe+ud [ 25
4195+ 0.0
-35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1,1,5

X,

po
pl

130e+04 1 25
4192+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[, pO

<1 nup. 159e+u4 / 25
4218+ 0.0
-34.24+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,1,13

= pO

T nuiplye+ud / 25
4202+ 0.0
-36.69 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (1,1,2)

o, PO

p1

AT inuiL 3/ re+V4 /25
4194+ 0.0
-35.23+ 0.00

TP delay [ns]

TVC(cbch) (11,6

- Lboe+ud | 25
- pO 4201+ 0.0
I pl -35.93+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- DO
[ p1

©1nuiz.a8oe+u4 | 25
4225+ 0.0
-34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,1,14

TnuiLS/re+u4 [ 25
4212+ 0.0
-36.72+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

[, pO

p1

AT rnuiLsrse+ud [ 25
4202+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

= po
pl

- nui bz/e+u4 / 25
4202+ 0.0
-35.14+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nuiyuse+u4 / 25
4229+ 0.0
-35+ 0.0

TP delay [ns]

TVC(cbch) (1,1,15

= pO

p1

T naisuse+ud / 25
4203+ 0.0
-35.16 + 0.00

TP delay [ns]



TVC(cbch) (1,2,0

4000 (S

3000

2000

1000

X~ 1L sure+u4 /25
', PO 41941 0.0
pl -36.6 + 0.0

TP delay [ns]

TVC(cbch) (1,24

- i 333e+04 / 25
', pO 4212+ 0.0
pl -35.78:+ 0.00

4000 |
3000~ 4
2000 4
1000 C -
0 EY 00
TP delay [ns]
TVC(cbch) (1,2,8)
- ©nuiLy1ve+ud / 25
4000 e pO 4196+ 0.0
pl -34.87 + 0.00

3000

2000

1000

0

1
50 100

TP delay [ns]

TVC(cbch) (1,212

4000 [

3000

2000

1000

~ 1 nuiLy4ye+ud / 25
PO 4239+ 0.0
pl -36.63 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nuiLb30e+u4 [ 25
- PO 4195 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

Snun1b/e+04 /25
DU 4230+ 0.0
-35.7:+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T nugyve+ud [ 25
DO 4218+ 0.0
pl -35.03 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,213

T ozre+u4 [ 25
pO 4237+ 0.0
pl -37.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,2,2)

S Lzerud 25
[, PO 4208 0.0
3 Pl -35.62% 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

S bl /e+u4 [ 25
- pO 4239+ 0.0
3 pl -35.87 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T nuizuzse+u4 | 25
- DO 4227+ 0.0
r pl -35.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

~ 1 nuz,uye+ud / 25
- PD 4238+ 0.0
F pl -36.12 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

A7 1 nuiLSove+u4 [ 25
- PO 4202+ 0.0
p1 -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

S nun 158e+04 [ 25
F= PO 4235+ 0.0
Pl -35.57:0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T rnug yz4e+u4/25
pO 4249+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T nui gyse+ud / 25
4234+ 0.0
-36.1+ 0.0

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (1,3,0)

A~ 1 nui Soae+u4 25
4205+ 0.0
p1 -37.13+ 0.00

TP delay

TVC(cbch) (1,34

[ns]

- 1L 3u8e+04 / 25
4199+ 0.0
-37.08 + 0.00

- pO
pl
[ C=26.97 [ps/c ]
5(') 100 =
TP delay [ns]
TVC(cbch) (1 3,8)
Tz lore+ud [ 25
- pO 4229+ 0.0
pl —35.21:;‘

1
0 50 00

TP delay [ns]
TVC(c,b Ch) (1, 3 12)
S i g 54e+04 /25
4000 [ po 4192+ 0.0
pl -33.31+ 0.00
3000 - 7
2000 - ]
wool- C = 30.02 [ps/ch] . 1
0, 5(', 10'0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

e, po

AL 4y e+U4 | 25
4206 + 0.0
-35.73+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

F pO

-1 nui bzoe+u4 [ 25
4230+ 0.0
-38.36 + 0.00

|
100

TP delay [ns]

TVC(c,b ch) (1 3,9

[, pO

T nug ysze+ud [ 25
4247+ 0.0
-35.83 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 3 13

~inuiLap/e+ud [ 25
4194+ 0.0
-33.43+ 0.00

PR
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- po

X~ 1L 529e+04 [ 25
4209+ 0.0
p1 -36.03+ 0.00

TP delay

TVC(cbch) (1,36

pO
p1

[ns]

© i bz4e+04 | 25
4230+ 0.0
-38.19 + 0.00

TP delay

TVC(eb.oh)=(1, 3, 10

1000

0

- b

[ns]

-1 i s30e+04 ] 25
4269+ 0.0
pl -35.77 £ 0.00

TP delay

TVC(Ebe=(L, 3, 14

e

po
pl

[ns]

©3V1/25
4190+ 0.0
-33.34+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

pl

A~ 1 nuiLbloe+ud [ 25
4223+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

AT

bae+u4 | 25
4235+ 0.0
-37.8+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 3

= pO

pl

T bUde+U4/25
4252+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3 15

e pO
p1

T nuiqoze+u4 /25
4198+ 0.0
-34+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

X~ 1w r1oe+U4 /25
[ o= po 4220+ 0.0
pl -38.26:+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

=i 5o8e+04 / 25
- pO 4201% 0.0
Pl 3492+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T nu.azze+04 [ 25
- pO 4241+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T inuiLpyle+ud / 25
- PO 4207+ 0.0
pl -34.87 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

AT 1 nuiLsboe+ud [ 25
- po 4224+ 0.0
pl -38.82+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

S nun 1 /4e+04 [ 25
DU 4216+ 0.0
pL -35.91:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu.380e+U4 / 25
DO 4268+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T ryoe+u4 [ 25
PO 4216+ 0.0
pl -35.82 + 0.00

TP delay [ns]

TVC(cbch) (1,4,2)

4000

3000
2000

1000

X~ r3e+U4 /25
F po 4226+ 0.0
F pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (1,4,6

4000

3000

2000

1000

-1 nurL Bose+u4 [ 25
- pO 4221 00
H PL_ -36.43% 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

4000

3000
2000

1000

© 1 nu.bgze+u4 [ 25
[ DO 4289+ 0.0
L -37.31+ 0.00

0

TP delay [ns]

TVC(cbch) (1,4,14

4000

3000
2000

1000

- 52 (e+04 ] 25
- PD 4219+ 0.0
F pl -35.72+ 0.00

P R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT 1nuiL, r2oe+U4 [ 25
- PO 4228+ 0.0
pl_ -37.63% 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

-1 Bube+ud [ 25
- PO 4227+ 0.0
Pl 3569+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

11)
“rnan zuze+ud | 25
- p0 4276+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

T roye+u4 [ 25
- PO 4211+ 0.0
pl -36.11+ 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A7 nui ozoe+u4 /25 AT 1L byse+ud [ 25 K™ 1 nui oyse+u4 / 25 AT 1 nuzuzze+ud | 25

4000 e, PO 4191+ 0.0 4000 Fones, po 4195+ 0.0 4000 _= po 4200+ 0.0 4000 po 4209+ 0.0
pl -35.59+ 0.00 pl -35.38+ 0.00 r pl -35.62+ 0.00 pl -35.02+ 0.00

3000

E 3000 - 3000 - 3000 [ E

2000 1 2000 -1 2000~ -1 2000

=1 1000 [~

1000 - 1000 —_ 1000 [~ - -
0 = o 0 50 % O = o 0 50 %
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15, TVC(cbch) (1,56 TVC(c, bch) (15,

“ g u)meﬂJA 125 Trnur b)/ﬁe+04/25 “ g l?ble+U4 125 Tnar g 24E2+l)4/25
4000, pO 4224+ 0.0 4000 pO 4225+ 0.0 4000 fate, pO 4241 0.0 4000 s, pO 42431 0.0
Pl -35.94% 0.00 pl_ -36.03: 0.00 - Pl -36.66+ 0.00 pl -35.51+ 0.00

3000 B 3000 e 3000 — 3000 -

2000 - 2000 - 2000 E 2000 E

1000 C ] 1000 7 wool- C = 27.28 [ps/ch 7 wool- C = 28.16 [ps/ch ]

. [ " ] -'-
- - - -
o 1 1 0 1 1 o 1 [ 0 1 1
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
© 1 nug.oyse+ud / 25 T rnuy, rp3e+u4 [ 25 T 1nug.a82e+04 [ 25 T 333e+U4 / 25
4000 e, pO 4234+ 0.0 4000 e, pO 4259+ 0.0 4000 [, DO 4272+ 00 4000 fam, p0 4280+ 0.0
Pl -3632:000 Pl -36.13% 0.00 [ PL_ -36.87%0.00 Pl -36.85% 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T L gsse+u4 / 25 Tonaslie+ud [ 25 T L pzse+u4 | 25 Tonan . /1e+u4 /25
4000 f pO 4251+ 0.0 4000 f, pO 4247400 4000 f, PD 4245+ 0.0 4000 i, pO 4256 0.0
pl -35.88 + 0.00 pl -35.73+ 0.00 F pl -35.45+ 0.00 pl -35.54+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 - 1000 - 1000

PR RS SR B PR SR T
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (1,6,0)

4000 (S

3000

2000

1000

' po

pl

K™ nuiLoole+ud /25
4192+ 0.0
-37.04 + 0.00

TP delay [ns]

TVC(cbch) (16,4

- 1 i 480e+04 / 25
4219+ 0.0
-36.71+ 0.00

4000 [, pO
pL
3000 - 7
2000 7
1000~ C 7
0 EY 00
TP delay [ns]
TVC(cbch) (16,8)
Tonunz.z3e+04 /25
4000 [, pD 4221+ 0.0
p1 -34.78 + 0.00

3000

2000

1000

0

1
50 100

TP delay [ns]

TVC(cbch) (1,6,12

4000 [

3000

2000

1000

~ 1L pose+ud / 25
4231+ 0.0
-37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AL 58 e+U4 ] 25
4197 + 0.0
-36.59+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nu 4z8e+04 [ 25
4217+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

S Hm44/43+u4/25
4241% 0.0
-35.18 + 0.00

pl

1
50 100

TP delay [ns]

TVC(C, bch) (1,6, 13

SRR

rove+u4 | 25
4227+ 0.0
-36.39+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

1000

0

TVC(cbch) (1,6,2)

(11e+04 /25
4204+ 0.0
-37.42+ 0.00

A1,

™, po

pl

TP delay [ns]

TVC(cbch) (16,6

T L 3r5e+04 [ 25
4219+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (1, 6 10

- o

pl

© 1 nuiz,uy4e+u4 | 25
4255+ 0.0
-34.96 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1,614

T rnuiLgse+ud [ 25
4221+ 0.0
-36.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1 nuiLUobLe+ud /25
4211+ 0.0
-35.83+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1 6,7

RRATCIEY

pO
pl

4z2e+04 | 25
4218+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T ba4e+u4/25
4245+ 0.0
-34.61+ 0.00

pl

TP delay [ns]

TVC(C, bch) (1,6, 15

A fnan g

bae+ud | 25
4213+ 0.0
-36.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,7,0)

A~ 1 nui o1ae+04 / 25
4184+ 0.0
-35.37+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (17,4

- iU 508e+U4 [ 25
.. po 4196+ 0.0
pl -36.73+ 0.00

50 5
TP delay [ns]

TVCebeh)=(1,7,8

- iz, e +ud [ 25
pD 4218+ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T rnuiLp4le+ud / 25
= po 4226+ 0.0
pl -35.39+ 0.00

P TR S ST R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

Fee.. po

p1

A1 1L bave+U4 | 25
4202+ 0.0
-36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

“nun 1.58e+04 [ 25
4194+ 0.0
-36.5 % 0.0

50 105
TP delay [ns]

TVCEebeh)=(1,7,9

- hun b rve+ud ] 25
- pO 4219+ 0.0
pL -35.69+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

~ 1 nuiLqose+ud / 25
— pO 4228+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,7,2)

A"

e, PO

pl

1 nui ozoe+ud [ 25
4195+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(cbch) (17,6

- i, r9pe+u4 / 25
- pO 4238+ 0.0
[ pl -36.95+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

- a5 rse+ud [ 25
= po 4227+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 7 14

-1 1 Sse+ud ] 25
- pD 4223+ 0.0
[ pL -35.38 + 0.00

3000

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

e po

pl

A1 nuiLooze+ud [ 25
4212+ 0.0
-36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

-1 nui b4se+u4 / 25
pO 4221% 0.0
p1 -37.23+ 0.00

TVC(c,b ch) (1,7,

50 100
TP delay [ns]

1)
T nuiz.uz/e+u4 [ 25
pO 4238+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

Tinuiarse+ud [ 25
po 4231+ 0.0
p1 -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

K™ 1 nui oyye+ud / 25
P po 4173+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (18,4

- 1L 246e+04 [ 25
== po 4212+ 0.0
pl -37.77 + 0.00

TP delay [ns]

TVC(cbch) (1 8,8

- nuzziie+ud | 25
4203+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,812

T rnuiLsyre+u4 [ 25
= po 4238+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

A" 1 i Byae+ud | 25
= po 4201+ 0.0
pL -37.01 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nui 340e+04 / 25
== po 4204+ 0.0
pl -37.29 % 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

T nup, 7b3e+ud / 25
= po 4230+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T inuiaiye+ud [ 25
= pO 4220+ 0.0
pl -35.24 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,8,2)

AT 1nui1ye+04 /25

=, po 4203 0.0
L pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (18,6

-1 384e+04 [ 25
- pO 4207+ 0.0
3 pl -36.98+ 0.00

TP delay [ns]

TVC(cbch) (1, 8 10

0

T nubge+u4 [ 25
- po 4241+ 0.0
o pl -36.02 + 0.00

TP delay [ns]

TVC(cbch) (1,8 14

T rnuiLp3le+ud / 25
- pD 4237+ 0.0
[ p1 -36.99 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L rsze+u4 [ 25
e, po 4207+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= 1 nui Sose+ud [ 25
= po 4208+ 0.0
pl -37.08 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T UHE+U4/25
= po 4235+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

T inuip31e+ud /25
e pO 4237+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



TVC(cbch) (1,9,0)

4000 [

3000

2000

1000

T Lose+ud /25
' pO 4194+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (1,94

-1 nurg bbze+ud [ 25
- pO 4210+ 0.0
pl -36.21 0.00

4000 [

3000~ ]

2000 7

1000~ C 7

O 5(') 10'0 -
TP delay [ns]
TVC(c,b ch) (1, 9 8
4000

3000

2000

1000

0

T rnuz 130e+04 / 25
4181+ 0.0
-33.9+ 0.0

0

TP delay [ns]

TVC(cbch) (1,9,12

4000 [

3000

2000

1000

T rnuiLgzoe+u4 / 25
pO 4207+ 0.0
pl -34.72+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,91

AT 1 nuiLboze+ud [ 25
- po 4205+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

- nui /gbe+u4 [ 25
- pO 4223+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T nuiLy41e+U5 / 25
4213+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,9,13

T nui ogse+ud / 25
4195+ 0.0
-34.1+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,9,2)

A7 1 nui s40e+04 / 25
_- po 4201+ 0.0
o pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

“ i 753e+04 [ 25
- pO 4229+ 0.0
[ pl -36.89+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (1, 9 10

© 1 nuigyuse+u4 / 25
= po 4230+ 0.0
L pl -35.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,914

T, rsze+04 [ 25
= pD 4200+ 0.0
[ p1 -35.27+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

AT 1L ryze+ud [ 25
po 4234+ 0.0
pl -38.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

=1 nui bbye+u4 / 25
- pO 4233+ 0.0
pL -35.98+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

Tz, z/e+u4/25
= po 4222+ 0.0
p1 -34,09+ 0.00

TP delay [ns]

TVC(C, bch) (1,9,15

T nui vbse+ud / 25
= pO 4209+ 0.0
p1 -34.22 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnwiLa4/e+04 /25
.. pO 4197+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (1,10,4

- i3 /e+04 | 25
P, pO 4185+ 0.0
pl -34.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

©1nuzbyze+u4 | 25
= po 4230+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

T rnuiLs1ve+u4 / 25
pO 4224+ 0.0
pl -33.85+ 0.00

TP delay [ns]

TVC(chh) (1,10,1)

3000

2000

1000

AT 1L szoe+ud [ 25
4000 [ po 4214+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (1,105

4000 [

3000

2000

1000

=1 nui bule+ud / 25
pO 4186+ 0.0
pL -35.07+ 0.00

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 10,9

4000 [

3000

2000

1000

-1 nuig.yuoe+ud / 25
po 4236+ 0.0
pl -35.94 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (110,13

4000 [

3000

2000

1000 [~

T inaia/4e+u4 [ 25
pO 4228+ 0.0
p1 -32.9+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

X~ 1 L 41e+ud /25
-, po 4201+ 0.0
L pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

1000

1 nuiL448e+04 | 25
4205+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (1, 10 10

1 nuiz,uyge+ud | 25
4252+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(cbch) (110,14

T L ose+ud /25
. pD 4229+ 0.0
L pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiLazse+ud [ 25
e, po 4198+ 0.0
pl -34.57 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-1 nui 498e+04 / 25
- pO 4218+ 0.0
pL -35.67+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T inuiLyrae+u4 /25
= po 4278+ 0.0
p1 -38.24+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nui poye+ud / 25
= po 4213+ 0.0
p1 -33.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 nui ozze+V4 /25
o= po 4201+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (1,114

T 3/9e+04 / 25
- pO 4206+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 11,8

1 nuip.bage+u4 | 25
= po 4228+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X1 ysie+ud /25
po 4241+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1 nuiLbroe+ud /25
Fe po 4211+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 bgye+u4 / 25
4202+ 0.0
-36+ 0.0

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

T nuiyzie+us / 25
e pO 4254+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inaiLg/ae+u4 /25
pO 4239+ 0.0
pl -36.51+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 11 2)

T ruze+u4 [ 25
- pO 4225+ 0.0
- pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

-1 i bB4e+u4 [ 25
- pO 4221 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X~ 1 nuig, rpve+u4 [ 25
= po 4272+ 0.0
F pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X™ 1L r5re+04 /25
- po 4235+ 0.0
[ p1 -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT rnuiLbrse+ud /25
- po 4228+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui B3Ye+u4 / 25
- pO 4231% 0.0
pL -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

~ 1 nuiz.ozae+u4 [ 25
- po 4275+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (111,15

T nui guse+ud / 25
e po 4245+ 0.0
pl -37.44+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T syze+u4 [ 25
= pO 4155+ 0.0
p1 -34.69 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,124

-1 nung 385e+04 / 25
- pO 4172 0.0
p1 -35.14+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

1z 10ve+u4 / 25
- po 4197+ 0.0
pl -35.55+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

T p4/e+u4 /25
pO 4194+ 0.0
pl -34.88+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

A7 L dve+ud | 25
peoe.. po 4164 + 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(cbch) (1,125

“nuiL4ye+u4 [ 25
o pO 4185+ 0.0
p1 -35.47+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

T nugnlze+ud [ 25
= po 4203+ 0.0
p1 -34.23+ 0.00

TP delay [ns]

TVC(cbch) (112,13

- T inuipole+ud / 25
= pO 4192+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

K™ 1 nuiou0e+V4 / 25
- po 4173+ 0.0
L pl -34.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (1126

=i b03e+u4 / 25
e pO 4184 0.0
3 pl -35.27 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

©1nuz 3uve+u4 | 25
= po 4224+ 0.0
L pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (112,14

T 1L pz3e+u4 | 25
pD 4208+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT 1 nuiL4noe+ud [ 25
- po 4180+ 0.0
p1 -34.35+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

S i brze+u4 [ 25
e, pO 4198+ 0.0
p1 -35.48+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

-1 nui gyse+ud [ 25
= po 4216+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- ~ 1 nui vbae+ud [ 25
pO 4196+ 0.0
-35.16 + 0.00

TP delay [ns]



TVC(CbCh) (1,13,0)

4000

3000

2000

1000

X~ 1y zzoe+U4 [ 25
po 4205+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,134

4000

3000

2000

1000

-1 nuz,usge+ud / 25
k. pO 4211+ 0.0
pl -35.16+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

4000

3000

2000

1000

0

©1nuizul4e+u4 [ 25
= po 4195+ 0.0
pl -34.21+ 0.00

0

TP delay [ns]

TVC(cbch) (1,13,12

4000

3000

2000

1000

T r4e+04 [ 25
= po 4252+ 0.0
pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

A7 046404 | 25
Foase po 4204+ 0.0
pL -36.87+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

-1 nui yase+u4 / 25
pO 4225 0.0
pL -35.55+ 0.00

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 13,9

T nug.z3ve+ud [ 25
- 4253+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(cbch) (113,13

T inair3ve+ud [ 25
- pO 4254+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,13,2)

A~ 1 nup.yyse+u4 / 25
_=_ po 4205+ 0.0
o pl -36.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,136

- nug112e+04 / 25
- pO 4234+ 0.0
[ pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

T g 1yze+u4 / 25
F DO 4264+ 0.0
- pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

~ 1L gode+u4 [ 25
F-. pD 4237+ 0.0
L pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

AT 1 1ub . yose+ud [ 25

po 4227+ 0.0
pl -36.24 + 0.00
L]
1
50 100
TP delay [ns]

TVC(c, bch) (1,137

S nuizal1e+ud [ 25
- pO 4239+ 0.0
pL -36.31% 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(1, 13, 11

a2 3e+u4 [ 25

- pO 4259+ 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

1 nuiL bose+ud / 25

o, pO 4257+ 0.0
pL -37.02:+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

2000 E AR bl?le*—ull 125
po 4173+ 0.0
pl -33.17+ 0.00

3000~ 7]

2000~ ]

woor- C = 30.14 [ps/ch] ™, 1

-
% EY 0

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

T 1sve+ud /25
.. pO 4200+ 0.0
pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (1,144

T 1nuiLa4/e+04 / 25
e pO 4178+ 0.0
pl -35.82:+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

TP delay [ns]

TVC(cbch) (1,14,12

T rnuiLps1e+u4 / 25
= po 4261+ 0.0
pl -36.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1L ozoe+ud [ 25
P, po 4194+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(c, bch) (1,145

- rnuLad/e+u4 25
™, DU 4192+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

<1 nu.ysae+ud / 25
= po 4200+ 0.0
pl -35.04 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (114,13

T inaia4ze+u4 /25
= pO 4254+ 0.0
pl -37.37+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000 =,
3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,14,2)

A7 1 nui ouse+u4 / 25
) po 4213+ 0.0
L pl -36.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,146

-1 nurL bbbe+u4 / 25
4175+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

T nuzb43e+04 [ 25
po 4224+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(cbch) (114,14

1000

T go3e+ud / 25
- pD 4261+ 0.0
L pl -36.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT rnuiLssre+ud [ 25
- po 4230+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

~nui rz1e+04 / 25
- pO 4199+ 0.0
pL -36.18+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

-1 nui ysoe+ud [ 25
po 4214+ 0.0
p1 -34.26 + 0.00

TP delay [ns]

TVC(cbch) (1,14,15

T nui p4ae+04 / 25
= pO 4255+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(chh) (1, 15 0)

S o z1e+04 /25
pO 4206+ 0.0
p1 -37.94+ 0.00

L=
100

TP delay [ns]

TVC(c,b ch) (1, 15 4

T ryre+ud [ 25
pO 42254 0.0
p1 -36.45+ 0.00

- C N
= o
TP delay [ns]
TVC(cbch) (1, 15 8

T 1nuizuspe+u4 | 25
PD 4226+ 0.0
pl -35.22 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 15 12

©rnuiLgave+u4 / 25
po 4233+ 0.0
pl -35.35+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 15 1)

- i ybzerud 25
pO 4208+ 0.0
pL -37.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 5

=1 nui r8be+u4 / 25
pO 4228+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVCebeh)=( 1, 15,9

T inug s41e+u4 / 25
pO 4259+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 13

T nui p4se+ud / 25
pO 4230+ 0.0
p1 -35.4 % 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000

2000

1000

0

TVC(Cbch) (1,15,2)

X~ 1wy 4e+04 | 25
po 4229+ 0.0
p1 -38.16+ 0.00

L=
100

TP delay [ns]

TVC(c,b ch) (1, 15 6

T L/ (be+u4 [ 25
pO 4230+ 0.0
pl -35.27+ 0.00

10‘0
TP delay [ns]

TVC(e b eh)=( 1, 15, 10

-, 28e+04 1 25
pO 4273+ 0.0
pL -37.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 14

1000

1 nui suoe+u4 / 25
pD 4237+ 0.0
pl -34.74.+ 0.00

PR
100

TP delay [ns]

TVC(Cbch) (1,15,3)

4000 [

3000

2000

1000

A7 1L ryze+ud | 25
po 4218+ 0.0
p1 -36.78 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 7

4000 [

3000

2000

100 C = 28.35 [pS/Ch 7]

“nui /74e+04 [ 25
pO 4231% 0.0
p1 -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 11

4000

3000

2000

1000

T inuz.z10e+u4 / 25
4291+ 0.0
-36.3 + 0.0

TP delay [ns]

TVC(c,b ch) (1, 15 15

4000 [Gu.

3000

2000

1000

T inuiorae+u4 /25
pO 4235+ 0.0
p1 -35.19 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,0,0

A~ 1 nui 53ae+04 / 25
o, po 4206+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

- 1o o11e+04 / 25
o, po 4193+ 0.0
pl -34.69 + 0.00

50 5
TP delay [ns]

TVC(cbch) (2 0,8

©1nuz 3ope+u4 | 25
= po 4188+ 0.0
p1 -34.97 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (2,0,12

T L ysse+ud / 25
- po 4206+ 0.0
pl -34.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,01

X~ 1w 7 sae+U4 | 25
. po 4221+ 0.0
pL -37.38+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

=1 1ub. bbbe+u4 / 25
pO 4195+ 0.0
p1 -34.37+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,9

- b Zz1e+U4 ] 25
pO 4200+ 0.0
pL -35.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, O 13

T nuiy4ze+ud [ 25
pO 4222+ 0.0
pl -35.59+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (2,0,2)

X~ 1L 8roe+u4 [ 25
po 4214+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVC(cbch) (20,6

1 nuie,44pe+04 | 25
- pO 4214+ 0.0
L -35.31+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 0, 10

-1 nug 30e+04 [ 25
4227+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(cbch) (2,0,14

- 1oz, 135e+04 [ 25
-, pD 4219+ 0.0
L p1 -35.03+ 0.00

3000

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT 1 nuiLBrze+u4 [ 25
F=- po 4207+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

~ 1 bb3e+u4d [ 25
- pO 4212+ 0.0
p1 -34.56+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T, /z:ze+u4/25
= po 4236+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2, O 15

- 1nuz,usbe+ud [ 25
= pO 4205+ 0.0
p1 -34.49 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

AT nuis szse+u4 [ 25
4222+ 0.0
-40.21+ 0.00

()
50 100

TP delay [ns]

TVC(cbch) (21,4

T L r5e+u4 / 25
e, pO 4178+ 0.0
pl -35.26+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

T2y re+u4 | 25
- po 4216+ 0.0
pl -36.77 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (21,12

T ore+u4 /25
= po 4205+ 0.0
p1 -34.9+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

AL 2590/ 25
[ pO 4214+ 0.1
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

=1 i bgse+u4 / 25
e pO 4193+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

-1 nug 1z0e+u4 / 25
- pO 4243+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (21,13

T nai ysze+ud [ 25
= pO 4227+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,1,2)

X~ 1wy, 150e+U4 [ 25
_l_ po 4221+ 0.0
o pl -37.8+ 0.0

F C = 26.45 [pslc ]

50 100

TP delay [ns]

TVC(cbch) (2,1,6

- i 718e+04 / 25
Fuuee pO 4198+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

© 1L, ruge+u4 / 25
- po 4243+ 0.0
- pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (21,14

- 1 nuizyooe+u4d / 25
n DD 4222+ 0.0
[ p1 -36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

AT 1 nug.uyse+ud [ 25
Facee po 4229+ 0.0
pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

“ o 1bBe+u4 [ 25
Fowee pO 4198+ 0.0
pL -35.65+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

T b/::e+l]4/25
- pO 4248+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (21,15

T nuiz.usse+ud [ 25
- pO 4204+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,2,0

K™ 1nui ruse+ud /25
P, po 4176+ 0.0
p1 -34.99 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,24

- L 633e+04 | 25
P, pO 4198+ 0.0
pl -37.2+ 0.0

[ C =26.88[ps/c ]

50 100
TP delay [ns]

TVC(ebch)=(2,2,8

©1nuzg1oe+u4 [ 25
= po 4190+ 0.0
pl -35.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,212

T~z 104e+04 / 25
= po 4237+ 0.0
pl -37.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1

AT 1L bose+ud [ 25
pee,, po 4188+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

- UL Bo5e+U4 [ 25
™, DU 4183+ 0.0
pl -36.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

T nu.318e+u4 / 25
pO 4234+ 0.0
pl -35.45+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,213

T nuzylse+ud / 25
- pO 4222+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,2,2)

A7 1 nuip4ve+u4 /25
- po 4193+ 0.0
L pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,2,6

- rnuyz1e+u4 / 25
= pO 4198+ 0.0
3 pl -36.97 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2,2, 10

1000

0

© 1 nuig 1ie+ud / 25
o=, po 4228+ 0.0
L pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,214

1 nuiz,uupe+u4 / 25
4228+ 0.0
-36.9 + 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3

AT 1L byse+ud [ 25
- po 4205+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

- nui Yg3e+u4 / 25
- pO 4201% 0.0
pL -36.86+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 2

AL 5b5e+u4/25
= po 4220+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(C, bch) (2,215

T nuaiLyu/e+ud [ 25
- pO 4222+ 0.0
p1 -35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

AT inuiLoie+u4 /25
4207+ 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,34

- i, rope+u4 / 25
e, pO 4208+ 0.0
pl -36.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

1nuzpude+ud | 25
= po 4226+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (2,312

T r3ve+u4 | 25
= po 4229+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

AT rnuLoize+ud [ 25
o=, po 4215+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

- nun baze+u4d [ 25
e, pO 4197+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

~ 1 nug.149e+u4 / 25
= po 4258+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(C, bch) (2,313

T nuiL ooge+ud / 25
- pO 4227+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,3,2)

A~ 1 nuioyre+ud /25
_- po 4210+ 0.0
o pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

-1 b14e+04 / 25
e pO 4218+ 0.0
L pl -35.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

T z4/e+04 /25
. po 4270+ 0.0
L pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

T 1ooe+ud /25
-, pD 4226+ 0.0
L pl -34.65+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT rnuiLgze+ud [ 25
- po 4208+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nui bge+u4 / 25
- pO 4197 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

EEALEVX Ub/e+U4/25
- po 4259+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (2,315

T nui p4ve+ud [ 25
- po 4228+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000 - ]
2000 ]
1000 C ]
0 = 00
TP delay [ns]
TVC(cbch) (2,4,8)
T 3bze+04 [ 25
2000 pD 4245+ 0.0
p1 -38.28 + 0.00
3000~ 7]
2000 - ]
1000 - ]
0y = 0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

T Loae+ud /25
= pO 4205+ 0.0
p1 -34.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (24,4

T 1 pye+ud /25
- pO 4209+ 0.0
p1 -35.77:+ 0.00

TP delay [ns]

TVC(cbch) (2,4,12

~1nuiL4y4e+04 / 25
= po 4244+ 0.0
pl -34.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1

AT 1 nuiLbyle+u4 / 25
= po 4190+ 0.0
p1 -34.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 4,5

S rnun 1nze+04 [ 25
- pO 4218+ 0.0
p1 -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

-1 nug bbobe+ud / 25
= pO 4259+ 0.0
p1 -37.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

T nui rboe+ud / 25
= pO 4229+ 0.0
p1 -35+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,4,2)

- po

A1 bzze+04 [ 25
4198+ 0.0

TP delay [ns]
TVC(cbch) (2 4,6)
“ i r5pe+04 / 25
-, pO 4229+ 0.0
pl -36.75:_0.00

p1 -35.27:+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1000

0

- iz s03e+U4 1 25
= po 4275+ 0.0
[ pL -37.18 + 0.00

TP delay [ns]

TVC(Cbch) (2, 4 14

1w 1 bve+ud [ 25
- pD 4232+ 0.0
[ pl -35.06 + 0.00

M R I B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000
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- i bzoe+u4 [ 25
- pO 4219+ 0.0
pl -36.11+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

©1nuz549e+04 | 25
= pO 4201+ 0.0
pl -34.66 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (212,12

T rnuiLyyse+u4 / 25
= po 4246+ 0.0
p1 -36+ 0.0

PR ISR R B
50 100

TP delay [ns]

TVC(chh) (2,12,1)

4000 po

AT rnuiLslie+ud /25
4207+ 0.0
pl -38.02+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,125

4000 fm, pO

[ns]

T nuiL by e+u4 [ 25
4230+ 0.0
-36.5 % 0.0

3000

2000

1000

TP delay

TVC(c,b ch) (2, 12

4000 [

[ns]

T nuw, rbbe+ud / 25
4227+ 0.0
pl -35.56 + 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (212,13

4000 e ,,0

[ns]

Tinuioy/e+ud [ 25
4226+ 0.0
pl -34.69 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (2,12,2)

AT 1nui rose+U4 /25
_- po 4218+ 0.0
o pl -37.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (2.12,6

T bb/e+u4 [ 25
pe, pO 4235+ 0.0
[ pl -36.47 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

Tz, r14e+04 / 25
- po 4234+ 0.0
- pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (212,14

1000

Ty ze+ud [ 25
. pD 4242+ 0.0
L pl -35.68 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

po

AT 1L bose+ud [ 25
4217+ 0.0
pl -36.42+ 0.00

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

-1 b34e+04 / 25
4266+ 0.0
pl -37.43+ 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

T nuiz.z1oe+u4 [ 25
4237+ 0.0
p1 -34.98 £ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nai roze+u4 [ 25
4232+ 0.0
p1 -34.97 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T Lo ioe+u4 / 25
.. pO 4203+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (2,134

-1 gbye+ud / 25
4239+ 0.0
-39.9+ 0.0

TP delay [ns]

TVC(cbch) (2, 13 8

T nuiLpyle+u4 / 25
- pO 4204+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (213,12

T roze+u4 / 25
= po 4229+ 0.0
pl -36.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 13 1)

- bhie+ud | 25
e pO 4221+ 0.0
pL -36.35.+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

-1 nuiL y3se+u4 / 25
- pO 4242+ 0.0
pL -39.36+ 0.00

TP delay [ns]

TVCEbeN)=(2 13,9

T nugBu/e+u4 25
= po 4227+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(cbch) (213,13

~ 1 nuiL vbve+ud / 25
- pO 4224+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

AT 1nug41/e+04/25
. po 4211+ 0.0
o pl -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

- 1nuz,u3se+ud / 25
pO 4253+ 0.0
pl -39.48+ 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1000

0

©1nuzb4pe+ud | 25
= po 4239+ 0.0
- pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (2.13,14

~1nuiLpuze+ud | 25
pD 4227+ 0.0
pl -35.79+ 0.00

P R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

A~ 1 nuiLbY4e+U4 [ 25
- po 4225+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(c, bch) (2,137

-1 nu zgae+u4 [ 25
F 4255+ 0.0
-39+ 0.0

50 1(;0
TP delay [ns]

TVC(ebeh)=(2,13, 11

T inuizzae+04 25
e pO 4240+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (2,13,15

Tnais3e+ud [ 25
po 4228+ 0.0
-35.49+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T s3se+ud [ 25
pee,. pO 4173+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(cbch) (2,144

- 1L 26 /e+04 | 25
™, pO 4181+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T 1nuig.4n4e+04 / 25
4226+ 0.0
-37.31+ 0.00

0

TP delay [ns]

TVC(cbch) (214,12

1L pode+ud | 25
= po 4212+ 0.0
pl -35.58 + 0.00

P ISR R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

A1 nuiLa8ye+ud [ 25

P, po 4176+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c, bch) (2,145

~1nui4n/e+04 [ 25
e pO 4210 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

Trnun.4y/e+u4 [ 25
= pO 4249+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (214,13

<1 nuiL pyve+ud / 25
- pO 4212+ 0.0
pl -36.96 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,14,2)

K™ 1 nuiozoe+V4 /25
o=, po 4176+ 0.0
L p1 -35.66 + 0.00

TP delay [ns]

TVC(cbch) (2.14,6

© i, 74ze+04 [ 25
4215+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(epeh)=(2, 14, 10

1000

0

T rnuz4re+04 [ 25
=, po 4260+ 0.0
- pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (2.14,14

T 1pe+ud /25
= pD 4210+ 0.0
+ pl -36.11+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT 1 nuiLsoze+ud [ 25

= po 4180+ 0.0
pL -34.61+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

=1 i boye+ud / 25
- pO 4211£ 0.0
pL -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 14 11

-1 nuiz.usoe+ud / 25
= pO 4264+ 0.0
p1 -37.44 + 0.00

TP delay [ns]

TVC(cbch) (2,14,15

TinuiLo/1e+ud /25
- pO 4211+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T rnuiLgne+u4 [ 25
P pO 4173+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (2,154

- i blge+ud / 25
- pO 4189+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

Tz 3r4e+04 [ 25
- po 4210+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

1 nuiLpuve+u4 / 25
= po 4218+ 0.0
pl -35.17 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (2,15,1)

AT 1 nuLouLe+ud /25
P, po 4185+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (2,155

-1 nui435e+04 / 25
e, pO 4185+ 0.0
p1 -34.55+ 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(2 15,9

T nu B30e+u4 / 25
= po 4236+ 0.0
pl -35.95+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (215,13

T inui oy /e+ud [ 25
pO 4207+ 0.0
pl -34.77 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (2,15,2)

A7 nui soae+04 /25
P po 4190+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

- Ui b3be+u4 / 25
- pO 4199+ 0.0
3 pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

0

© 1z, rgbe+u4 | 25
= po 4265+ 0.0
- pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

T rnuiLb41e+04 /25
- pD 4223+ 0.0
L p1 -35.29+ 0.00

3000

PR SR T
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT rnuaiLgr1e+u4 /25
P, po 4196+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c, bch) (2,157

- nu zge+u4 / 25
- pO 4211£ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nui ysge+ud [ 25
- po 4238+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tinuigr3e+u4 /25
po 4210+ 0.0
p1 -33.15+ 0.00

TP delay [ns]



TVC(cbch) (3,0,0)

X~ 1w r1oe+U4 /25
4000 po 4203+ 0.0

p1 -38+ 0.0
3000 ]
2000~ ]

1000 C = 26.32 [pS/C

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

1=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

S rnunZz1e+04 [ 25
po 4216+ 0.0
pl -37.49 + 0.00

TP delay [ns]

TVC(cbch) (3 0,8

T rnug. by re+u4 [ 25
4168+ 0.0
-33.9+ 0.0

0

TP delay [ns]

TVC(cbch) (3,0,12

T rnuizzr4e+04 /25
= po 4240+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

E pO

p1

T 1ose+ud [ 25
4173+ 0.0
-36.52 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

“nu 3/e+04 [ 25
pO 4207+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

<1 nuiL Ubbe+us / 25
4211+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T inuz13ze+ud [ 25
pO 4223+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,0,2)

po

pl

A~ 1 nuiL o4ve+u4 | 25
4193+ 0.0
-37.06 + 0.00

TP delay [ns]

TVC(cbch) (3,06

1000

-1 nuz.488e+04 | 25
- pO 4230+ 0.0
[ p1 -37.96+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

S rnun 3.20e+04 [ 25
= po 4201+ 0.0
L pl -33.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,14

1 nuizu5se+u4 [ 25
- pD 4233+ 0.0
[ pl -36.06 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (3,0,

A

e po
pL

3

nu, rz3e+u4 [ 25
4201+ 0.0
-37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

S 2. e+04/25
po 4237+ 0.0
p1 -37.88+ 0.00

TVC(c,b ch) (3, O

50 100
TP delay [ns]

AR b4be+U4/25
pO 4208+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3, O 15

- i yzve+ud [ 25
4217+ 0.0
-34.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,1,0

A7 1 nui oove+ud / 25
- po 4179+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- 1z, 090e+u4 / 25
pO 4200+ 0.0
pl -35.97+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

Tz 148e+04 | 25
4189+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,12

T rs3e+u4 / 25
4212+ 0.0
-34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT rnuLosse+ud [ 25
o, po 4187+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nuz.Ugze+u4 [ 25
pO 4188+ 0.0
pL -35.36+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

-1 nuiy guse+ud / 25
po 4196+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (31,13

Tonan g rse+ud [ 25
- pO 4221+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,1,2)

X~ 1L suve+U4 [ 25
[, po 4179+ 0.0
L pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

T rnunzye+ud [ 25
e pO 4206+ 0.0
[ pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (3, 1 10

— © 1 nuiz.ysge+u4 | 25
- po 4194 0.0
F pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (31,14

= DD
L pl

T L p3se+ud / 25
4208+ 0.0
-35.59 + 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT 1 nuiLyose+ud [ 25
- po 4201+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

S nu34/e+04 / 25
- pO 4218+ 0.0
p1 -36.54 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

- T, 1U4e+u4/25
= po 4212+ 0.0
p1 -36.14+ 0.00

TP delay [ns]

TVC(cbch) (31,15

T inui gbse+ud / 25
- po 4218+ 0.0
p1 -35.17+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,2,0

A7 1 nui suse+ud / 25
P po 4168+ 0.0
pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- i 524e+04 ] 25
P, pO 4177+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

1z 1v4e+04 [ 25
4220+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,212

T L gzoe+u4 / 25
4225+ 0.0
-35.4+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,21

AT 1L ose+ud [ 25
oo, po 4189+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

=1 nui Buye+u4 / 25
e, pO 4201% 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nup.p13e+u4 / 25
- pO 4234+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,213

T 1 nui gyae+ud 25
= pO 4225+ 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,2,2)

A~ 1nuiLoroe+ud /25
P, po 4194+ 0.0
L pl -37.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,2,6

- nuiB11e+u4 / 25
- pO 4200+ 0.0
3 pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

©rnuigulle+ud / 25
- po 4274+ 0.0
- pl -38.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

T ro1e+04 /25
- pD 4218+ 0.0
L p1 -35.28+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

AT 1L buze+ud [ 25
- po 4195+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

- 11 byse+ud / 25
- pO 4206+ 0.0
pL -35.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 2

EEALEVX uize+u4/25
4267+ 0.0
-37.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,215

T inuip4/e+04 /25
pO 4233+ 0.0
-35.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0)

T Loye+ud /25
- pO 4188+ 0.0
p1 -35.66 + 0.00

TP delay [ns]

TVC(cbch) (3,34

Tnun 1 z9e+04 [ 25
pO 4210+ 0.0
p1 -34.17:+ 0.00

TP delay [ns]

TVC(cbch) (3 3,8

- Zzserud | 25
po 4211% 0.0
p1 -35.16+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,312

- 1o 1ze+04 [ 25
4231% 0.0
-35.81+ 0.00

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

A1 L0are+U4 ] 25
= po 4196+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nui4n3e+04 [ 25
4222+ 0.0
-35.3+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (3 3,9

T nup.b1be+u4 [ 25
= po 4220+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

1 nuiL oboe+ud / 25
pO 4233+ 0.0
p1 -35.93+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,3,2)

X~ 1L b1oe+u4 [ 25
. po 4213+ 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

i bage+u4 / 25
- pO 4231+ 0.0
L pl -35.53 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

T zpe+ud /25
- po 4249+ 0.0
- pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (3,314

-1 5lze+ud [ 25
-, pD 4216+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

A1 nuiL base+ud [ 25
=, po 4212+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

- nui brye+u4 [ 25
pO 4248+ 0.0
p1 -34.54 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

T 94BE+U4/25
= po 4250+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

- i bybe+ud [ 25
pO 4237+ 0.0
-36.43 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,4,0)

A7 1 nui p4se+u4 / 25
4193+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(cbch) (34,4

e po
pl

- i 39ze+u4 / 25
4227+ 0.0
-36.03+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3 4,8

~1nuig.404e+04 / 25
4210+ 0.0
-34.29 + 0.00

TP delay [ns]

TVC(cbch) (3,4,12

= pO

p1

T L ysve+u4 / 25
4235+ 0.0
-36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,1)

=, po

p1

AT 1 nuiLbo/e+u4 /25
4190+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3,4,5

PSRl

= O

134e+04 1 25
4232+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

~ 1 nu.ygne+ud / 25
4229+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(C, bch) (3,4,13

= pO

-1 nuiL yooe+ud / 25
4222+ 0.0
-37.27+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,4,2)

= po

A7 1nui ruze+u4 /25
4186+ 0.0
pl -35.75+ 0.00

TP delay

TVC(cbch) (34,6

- pO

pl

[ns]

T b3/e+u4 [ 25
4240+ 0.0
-37.37 + 0.00

TP delay

TVC(cbch) (3, 4 10

- DO

[ns]

T, r5ze+04 | 25
4239+ 0.0
pl -35.77 + 0.00

0

TP delay

TVC(cbch) (34,14

[ns]

TrnuiLs3e+u4 [ 25
4221+ 0.0
pl -36.87 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

= pO

AT 1L byse+ud [ 25
4205+ 0.0
pl -36.82+ 0.00

TP delay

TVC(c,b ch) (3 4,7

= pO

[ns]

S a7 /1e+04 / 25
4247+ 0.0
pl -35.93+ 0.00

TP delay

TVC(c,b ch) (3, 4

e, pO

[ns]

T rnug 514e+u4/25
4244+ 0.0
pl -34.91+ 0.00

TP delay

TVC(C, bch) (34,15

[ns]

= SRR m)be+\)4/25
- 4225+ 0.0
-36.1+ 0.0
- C -
PR R | o
50 100
TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0)

K™ 1nuioiae+04 /25
po 4201+ 0.0
pl -35.22+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,54

=i, ruge+ud / 25
pO 4213+ 0.0
pl -35.32:+ 0.00

- C -1
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) (3, 5 8

T 3.40e+04 /25
po 4240+ 0.0
pl -34.95+ 0.00

0

1
100

TP delay [ns]

TVC(cbch) (3,5,12

~nuiLsYoe+u4 / 25
pO 4293+ 0.0
pl -36.32+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

T/ 1ove+ud /25
pO 4227+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (3 55

=1 i boye+u4 / 25
pO 4203 0.0
p1 -34.65+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

~ i nai g1ae+u4 [ 25
po 4269+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

T nuiLpb/e+ud [ 25
pO 4281% 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

X~ siie+ud [ 25
e, po 4231+ 0.0
o pl -35.86+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

T brze+u4 [ 25
- pO 4206+ 0.0
[ pl -34.34+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

© 1 nuzgo3e+ud | 25
4283+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

T, ro3e+04 / 25
- pD 4281+ 0.0
| pl -36.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1L 4ove+ud [ 25
s, po 4239+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

“rnan 1.54e404 [ 25
- pO 4218+ 0.0
p1 -34.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

T, 15::e+u4/25
4288+ 0.0
-35+ 0.0

TP delay [ns]

TVC(C, bch) (3,5,15

T nai rzoe+ud [ 25
- pO 4294+ 0.0
p1 -36.86 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

AT inuiazie+04 /25
P po 4175+ 0.0
p1 -34.14+ 0.00

TP delay [ns]

TVC(cbch) (36,4

T b3 /e+u4 [ 25
- pO 4239+ 0.0
pl -36.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

T g, 1n3e+u4 / 25
- po 4228+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T rnuiLpLse+u4 / 25
= po 4220+ 0.0
p1 -35.1+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

X~ 1L dzoe+ud | 25
- po 4186 + 0.0
pL -34.6 0.0

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui b14e+04 / 25
- pO 4255+ 0.0
p1 -37.49+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

-1 nu 3ype+ud [ 25
= po 4255+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

Tonan153e+ud [ 25
pO 4232+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

1000

TVC(cbch) (3,6,2)

A~ 1nuiLoive+u4 /25
po 4202+ 0.0
pl -35.25+ 0.00

TP delay [ns]
TVC(cbch) (3 6,6)
T UL b /0e+04 [ 25
- pO 4257+ 0.0
L pl -36.87 :;‘
[ C=27.12 [ps/ch ]
1 L --
50 100

TP delay [ns]

TVC(cbch) (3, 6 10

Tanuzz(e+04 | 25
DO 4248+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

~ i bzye+u4 [ 25
pD 4244+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLb14e+U4 /25
- po 4191+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui byye+u4 / 25
- pO 4260+ 0.0
pL -37.87+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T, mue+u4/25
- pO 4264+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

Tinui s ze+ud [ 25
pO 4238+ 0.0
-35.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

AT 1nuio1se+ud /25
P po 4195+ 0.0
p1 -35.14+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,7,

- i bybe+u4 [ 25
e, pO 4204+ 0.0
p1 -35.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuzgz1e+04 / 25
= po 4212+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T 1L yzse+u4 / 25
pO 4224+ 0.0
-34.68 + 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

A7 1L bsbe+ud /25
., po 4199+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

=1 bage+u4 [ 25
pO 4192+ 0.0
p1 -34.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nuy gb3e+ud / 25
po 4239+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

Tinai/1ge+ud [ 25
pO 4208+ 0.0
pl -34.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

AT 1nuiLolre+ud /25
_- po 4215+ 0.0
o pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

= 1 nur boge+u4 [ 25
[F-e. pO 4211% 0.0
[ pl -35.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T nuig.430e+U4 / 25
= po 4254+ 0.0
o pl -36.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

T, ru4e+04 [ 25
pD 4208+ 0.0
pl -34.39+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT rnuiLraze+u4 [ 25
=3 po 4214+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

S v 1 r4e+04 1 25
- pO 4225+ 0.0
pL -35.63+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

AR bb4e+U4/25
= po 4253+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T inuiplse+ud [ 25
- po 4215+ 0.0
p1 -35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

X~ 1w 5zve+U4 [ 25
PO 4218+ 0.0
pl -37.32% 0.00

TP delay [ns]

TVC(cbch) (3,84

T i 1.44e+04 /25
pO 4221+ 0.0
pl -35.31+ 0.00

- C -
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) (3, 8 8

T rnun 3.33e+04 /25
pD 4248+ 0.0
pl -38.22 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,812

TanuiLSrse+ud /25
PO 4237+ 0.0
pl -36.13 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

o Lole+ud /25
PO 4197 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

~nun1.48e+04 [ 25
DU 4208+ 0.0
pL -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

-1 nui/ pbye+ud / 25
DO 4264+ 0.0
pl -37.56 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

T b31e+u4 /25
pO 4233+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (3,82)

X~ 1 i bode+U4 [ 25
- po 4199 0.0
r pl -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

1000

- i b43e+04 [ 25
- pO 4217+ 0.0
I pl -35.19:+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

1000

0

T 1nug,u43e+u4 [ 25
- DO 4270+ 0.0
I pl -37.93  0.00

3000

TP delay [ns]

TVC(cbch) (3,814

T i b3ze+u4 [ 25
- PD 4231+ 0.0
I pl -36.32 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiL, 28e+u4 [ 25
e PO 4229+ 0.0
p1 -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

“nui /(4e+04 [ 25
F= PO 4238+ 0.0
Pl -36.08+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

aRALVA bUie+U4/25
- pO 4274+ 0.0
pl -38.05+ 0.00

TP delay [ns]

TVC(C, bch) (38,15

S 15/e+04 /25
- PO 4241+ 0.0
pl -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

A7 1 nun ss0e+u4 / 25
e, po 4214+ 0.0
pl -35.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (39,4

T i ro1e+04 / 25
- pO 4207+ 0.0
p1 -34.87+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

T4z (e+04 | 25
= po 4215+ 0.0
pl -34.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

Ty roe+ud /25
pO 4269+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT 1nuiL3u/e+u4 25
e, po 4230+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

=1 i Boge+u4 / 25
- pO 4214+ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 9,9

T nup.b31e+u4 /25
= po 4227+ 0.0
pl -35.39 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,13

Tinuiorze+ud [ 25
4247+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

TonunLave+ud [ 25
. pO 4230+ 0.0
o pl -35.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (39,6

T rnuzu3/e+u4 [ 25
pe, pO 4230+ 0.0
[ pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

© 1 nuiz.ygae+ud | 25
- po 4248+ 0.0
L -34.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~ L gzye+U4 [ 25
-, pD 4254+ 0.0
L pl -37.73+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

x° 1 L dsae+ud | 25
po 4228+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

-1 nui yz3e+u4 / 25
- pO 4240+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T, 4Uue+u4/25
- po 4255+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T nui szse+ud [ 25
e po 4246+ 0.0
p1 -36.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

© i sy4e+U4 [ 25
- pO 4217+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (3,104

- i, rgze+ud | 25
e, pO 4204+ 0.0
pl -36.65:+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3, 10 8

T rnuizz0/e+04 /25
- pO 4249+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (310,12

T L yle+ud /25
pO 4233+ 0.0
pl -34.85+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3, 10 1)

e, po

- i sdye+Ud 25
4219+ 0.0
pL -37.82:+ 0.00

TP delay

TVC(c, bch) (3,10,5

[ns]

-1 sise+ud / 25
4211+ 0.0
pl -36.66 + 0.00

TP delay

TVC(c,b ch) (3, 10

e, po

[ns]

T a2y /e+ud [ 25
4262+ 0.0
pl -36.51+ 0.00

TP delay

TVC(cbch) (310,13

[ns]

T inuiasbe+ud [ 25
4232+ 0.0
pl -34.19+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (3,10,2)

F C = 26.81 [ps/c .

-
50 100

TP delay [ns]

TVC(cbch) (3.10,6

K™ 1 nuiqoze+04 /25
P, po 4217+ 0.0
o pl -37.3+ 0.0

3000

TN/ 1e+04 / 25
3 4223+ 00
[ 365+ 0.0

TP delay [ns]

TVC(cbch) (3, 10 10

1000

0

T rnugusle+ud / 25
-, po 4275+ 0.0
L pl -37+ 0.0

TP delay [ns]

TVC(cbch) (3.10,14

1000

T rnuiLgsse+u4 [ 25
. pD 4234+ 0.0
L pl -35.06 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

e po

AT 1 nuiL4noe+ud [ 25
4218+ 0.0
-35.9+ 0.0

pl

TP delay

TVC(c, bch) (3,10,7

E. pO

[ns]

-1 nui bble+ud / 25
4231+ 0.0
pl -37.84+ 0.00

50 100
TP delay

TVC(cbch) (3, 10 1

= pO

[ns]

-1 nuiLyyae+ud / 25
4273+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (3,10,15

[ns]

-1 nui oyae+ud [ 25
4223+ 0.0
p1 -35.48 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

K™ 1nui4r9e+04 /25
P po 4185+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (3,11,4

Tnu 1.be+04 /25
e, pO 4168+ 0.0
pl -35.17:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 11 8

T rnug.1rve+u4 | 25
= po 4236+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

X~ 1L suse+u4 / 25
po 4216+ 0.0
pl -35.32+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000 k5,

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (3,11,1)

AT rnuLoize+ud [ 25

.. po 4190+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (3,11,5

1 nuiL bobe+u4 [ 25

pO 4173+ 0.0
pL -33.22:+ 0.00

TP delay [ns]

TVC(eh.eh)=(3, 11, 9

T inuiL1ule+us / 25

-

4251% 0.0
-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (311,13

i bEBe+u4 [ 25

pO 4200+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000 [,

3000

2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (3, 11 2)

T w4 re+u4 [ 25
- pO 4188+ 0.0
L p1 -36.25 + 0.00

3000

TP delay [ns]

TVC(cbch) (311,6

-1 nuiL babe+u4 / 25
F 4198+ 0.0
- -34.91+ 0.00

TP delay [ns]

TVC(cbch) (3,11, 10

X~ 1nuig z18e+u4 [ 25
po 4242+ 0.0
p1 -34.45 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 14

X~ 1L bple+ud [ 25
po 4194+ 0.0
p1 345+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,11,3)

A~ 1 nuiLblie+ud /25
- po 4193+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (3,11,7

-1 nui Buse+u4 / 25

e, pO 4183 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(Ebeh=(3, 11, 11

1 nuiz 159e+04 / 25

= p0 4264+ 0.0
pl -36.63 0.00

TP delay [ns]

TVC(cbch) (311,15

L bzoe+u4 [ 25

= pO 4204+ 0.0

35.02 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,0,0

A7 1 nui qose+u4 / 25
- po 4180+ 0.0
p1 -34.95+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (40,4

-1 45ae+04 / 25
Fuoue, pO 4198+ 0.0
p1 -35.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 0,8

T rnuzpole+ud [ 25
= po 4200+ 0.0
p1 -34.64 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,0,12

T4 e+04 /25
= po 4205+ 0.0
pl -33.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,01

x- 1L dszerud | 25
P s po 4176+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

-1 nui 340e+04 / 25
- pO 4204+ 0.0
p1 -35.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 0,9

~ 1 nug gyse+ud / 25
= po 4225+ 0.0
pl -35.22 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,0,13

Tinuib3ie+ud [ 25
= pO 4199+ 0.0
pl -32.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000
:
1000;-(: 29.64 [ps/ch]™_ '

n e

4000

3000
2000

1000

TVC(cbch) (4,0,2)

A~ 1nui4oie+u4 /25
k. po 4185+ 0.0
L pl -35.24 + 0.00

TP delay [ns]

TVC(cbch) (4,0,6

1000

T b pe+u4 [ 25
- pO 4203+ 0.0
[ pl -35.58+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 0 10

T nuig.zrve+u4 | 25
. po 4226+ 0.0
- pl -33.73+ 0.00

TP delay [ns]

TVC(cbch) (4,0,14

~ 1L p4ze+u4 | 25
-, pD 4212+ 0.0
L pl -33.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3

AT rnuiLzroe+ud [ 25
poee, po 4199+ 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(c,b ch) (4 0,7

-1 nui bgbe+u4 / 25
- pO 4228+ 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, O

T, ua5e+u4/25
= po 4237+ 0.0
pl -34.44+ 0.00

TP delay [ns]

TVC(C, bch) (4,0,15

Tinan11e+u4 /25
e pO 4197+ 0.0
p1 -32.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,1,0)

A7 1 nuin40e+04 / 25
Freee po 4186+ 0.0
pl -36.88+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

T rnuaiLb/re+V4 [ 25
Foee pO 4182+ 0.0
pl -35.91+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

T za/e+04 /25
= po 4208+ 0.0
pl -34.59 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (41,12

T pyre+ud /25
= po 4197+ 0.0
p1 -34.8+ 0.0
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1)

AT 1L rsye+ud [ 25
- po 4167+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

- I gz1e+u4 [ 25
e, DU 4190+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,9

-1 nu.1yae+ud / 25
4210+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(C, bch) (41,13

T inuz1ule+ud / 25
= pO 4195 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (4,1,2)

4000

3000
2000

1000

A~ 1nuiLoore+ud /25
- po 4185+ 0.0
L pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (41,6

4000

3000
2000

1000

T rnun 1 ee+ud [ 25
F pO 4193+ 0.0
[ pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (41,10

4000

3000
2000

1000

T nuig14ze+04 / 25
- po 4246+ 0.0
L -35.1+ 0.0

0

TP delay [ns]

TVC(cbch) (41,14

4000

3000
2000

1000

1 nuiz,uyoe+ud | 25
= pD 4208+ 0.0
[ p1 -36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3)

x- T ya3/25
F.... po 4206+ 0.0
p1 -36.76 + 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

- nun 1 89e+u4 [ 25
4201+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 1

1)
T nuizb4ve+ud [ 25
- po 4238+ 0.0
p1 -33.75+ 0.00

TP delay [ns]

TVC(C, bch) (41,15

-1 nuiz.yyae+ud [ 25
= pO 4209+ 0.0
p1 -35.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,2,0

A7 nui soze+V4 [ 25
Focea. po 4209+ 0.0
pl -35.26+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,24

T i 743e+04 / 25
k. pO 4200+ 0.0
p1 -34.15+ 0.00

TP delay [ns]

TVC(cbch) (42,8

T rnuig.uz4e+u4 | 25
- pO 4234+ 0.0
pl -36+ 0.0

TP delay [ns]

TVC(cbch) (4,212

T L4 e+04 /25
P pO 4224+ 0.0
pl -34.95+ 0.00
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,1

AT 1 nunLBuse+ud [ 25
Foaee po 4207+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,5

=1 boge+u4 / 25
pO 4210 0.0
pL -33.13+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,9

T naizu3e+ud [ 25
- po 4258+ 0.0
pl -35.62 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,213

T nai rbye+ud / 25
= 4225+ 0.0
-34.1+ 0.0

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,2,2)

A7 1 nuiLsoae+u4 /25
_-_ po 4237+ 0.0
- pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,6

= 1 nurL9uye+ud / 25
4217+ 0.0
-33.91+ 0.00

TP delay [ns]

TVC(cbch) (4,210

0

1 nuiz.a48e+04 | 25
- DO 4267+ 0.0
- pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (4,2 14

T, r3oe+04 / 25
3 pD 4209+ 0.0
L p1 -34.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3)

AT 1L bsye+ud [ 25
po 4225+ 0.0
pl -34.17 + 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

“ 1886404 [ 25
- pO 4228+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 2

EEALEVX uabe+u4/25
- po 4265+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(C, bch) (4,215

T nui s4ve+u4 / 25
e pO 4221+ 0.0
p1 -34.56 + 0.00

TP delay [ns]



TVC(cbch) (4,3,0

4000 &

3000

2000

1000

K™ nui r49e+04 /25
- po 4179+ 0.0
pl -35.73+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (43,4

- Zute+ud [ 25
e pO 4199+ 0.0
pl -35.83+ 0.00

4000
3000 [~ ]
2000~ ]
1000~ C ]
0 = 00
TP delay [ns]
TVC(cbch) (4 3,8)
~ 1 nuiL pbge+ud / 25
4000 e pD 4208+ 0.0
p1 -34.3+ 0.0

3000

2000

1000

0

0

TP delay [ns]

TVC(cbch) (4,312

4000

3000

2000

1000

T rugurse+ud /25
4247+ 0.0
-35.9 + 0.0

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT 1w u/e+u4 | 25
P po 4185+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

- 11U Yoae+u4 / 25
E pO 4210 0.0
pL -36.78+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

< slaserud [ 25
e, pO 4209+ 0.0
pL -33.29+ 0.00

TP delay [ns]

TVC(C, bch) (4,3,13

Tinugi41e+u4 /25
= pO 4233+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,3,2)

AT rore+V4 /25
. po 4204+ 0.0
L pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (4,3,6

1000

=i, 7gye+ud / 25
- pO 4221 0.0
[ pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (4, 3 10

1000

0

T 1Lyse+ud /25
- po 4242+ 0.0
- pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (4,3 14

1000

~ 1 nug.usbe+u4 / 25
F-. pD 4231+ 0.0
L pl -35.68 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,33

AT 1L bsse+ud [ 25
po 4206+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

-1 nui Yoge+ud / 25
- pO 4245 0.0
pL -36.63+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 3

T yaze+u4/25
4254+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(C, bch) (43,15

po
p1

Il 4.ze+04 [ 25
4241+ 0.0
-356.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0)

AT nun szse+04 /25
4181+ 0.0
-34.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4.4,4

- 1L 245e+04 [ 25
== po 4194+ 0.0
pl -34.65+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.ch)=(4, 4,8

Tz lo3e+u4 / 25
= pO 4211+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (44,12

T rnuiLp3le+u4 / 25
- po 4204+ 0.0
pl -35.21+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4.4,1)

T 1zoe+ud [ 25
- pO 4172+ 0.0
pl -33.72+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,5

-1 nui z41e+04 [ 25
4201+ 0.0
-35.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 4,9

T nup.183e+u4 / 25
po 4248+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (44,13

TinuiLasie+ud [ 25
- pO 4212+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (4,4,2)

3000
2000

1000

A7 1 nui s40e+04 / 25
4000 ” po 4184+ 0.0
L pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (44,6

4000
3000
2000

1000

-1 nuiL4u1e+04 / 25
4222+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (44,10

4000 [,
3000
2000

1000

Tz 3z4e+04 | 25
DO 4247+ 0.0
pl -35.29+ 0.00

0

TP delay [ns]

TVC(cbch) (4,4,14

4000 [

3000
2000

1000

~ 1 nuiLg4o4e+04 / 25
pD 4206+ 0.0
pl -34.78 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3)

AT 1L ssoe+ud [ 25
- po 4197+ 0.0
pl -34.54+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

= 1nui 3g3e+0d | 25
= po 4217+ 0.0
pl -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 4

1)
T nui gy /e+u4 [ 25
4265+ 0.0
-36.5 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (44,15

T inuigiae+u4 /25
= pO 4206+ 0.0
p1 -35.02+ 0.00

TP delay [ns]



TVC(cbch) (4,5,0)

4000 (S

- Lzse+ud [ 25
4184+ 0.0
pl -35.65+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (4,54

[ns]

4000 E ~ g 2419+UA 125
= pO 41841 0.0
pl -36.15+ 0.00
3000 1
2000~ -1
1000 C 1
0 EY 00
TP delay [ns]
TVC(c,b ch) (4, 5 8
4000

T, ry1e+u4 / 25
4224+ 0.0
-36.8+ 0.0

3000

2000

1000

0 1

1
0 50 100

TP delay

TVC(cbch) (4,5,12

4000 e

[ns]

- 1nuig b44e+04 / 25
4226+ 0.0
pl -35.82 + 0.00

3000

2000

1000

PR ISR R B
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51)

4z1e+U4 /25
4205+ 0.0
-36.86 + 0.00

A

e, O
pl

TP delay [ns]

TVC(c,b ch) (4 55

-1 nui byle+ud / 25
4192+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4 59

- p.y1e+ud / 25
4243+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,5,13

<1 nuiL byoe+ud / 25
4223+ 0.0
-36.43+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (4,5,2)

- po

A7 nun44se+04 / 25
4187+ 0.0
-36.14 + 0.00

p1

TP delay [ns]

TVC(cbch) (4,5,6

X1,

120e+U4 | 25
4186+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(cbch) (4, 5 10

- DO

pl

T rnuz44/e+04 /25
4236+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(cbch) (4,5,14

- DD

~ 1L ogye+ud / 25
4233+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3)

po

p1

A~ 1w aa8e+U4 | 25
4213+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

e, po
pl

S nun 1 8oe+u4 [ 25
4219+ 0.0
-37.18+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (4, 5

T rnug 9a5e+u4/25
4247+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

e pO
p1

T nuiasoe+ud [ 25
4226+ 0.0
-35.8+ 0.0

TP delay [ns]



TVC(cbch) (4,6,0

4000

3000

2000

1000

A7 1 nuip4oe+u4 / 25
- po 4182+ 0.0
p1 -34.85+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (46,4

4000

3000

2000

1000

- i bage+ud / 25
pO 4194+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 6,8

4000

3000

2000

1000

0

T rnug.0ure+u4 [ 25
po 4215+ 0.0
pl -34.56 + 0.00

0

TP delay [ns]

TVC(cbch) (4,6,12

4000

3000

2000

1000

T rnuiLgzve+u4 | 25
pO 4235+ 0.0
pl -36.38+ 0.00
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2000

1000

4000
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2000

1000

TVC(cbch) (4,6,1

AT 1 nuiLbzse+ud [ 25
e, po 4174+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4 6,5

- b33e+u4 / 25
pO 4191% 0.0
pL -35.66+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 6,9

T nuny.ybe+ud / 25
po 4235+ 0.0
p1 -34.44 + 0.00

TP delay [ns]

TVC(C, bch) (4,6,13

T nui szye+ud [ 25
pO 4229+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000
3000
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1000
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2000

1000

0

4000

2000

1000

TVC(cbch) (4,6,2)

AT 1nui rs1e+04 /25
po 4195+ 0.0
pl -34.52+ 0.00

TP delay [ns]

TVC(cbch) (46,6

- i bb3e+ud / 25
e pO 4210 0.0
[ pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 6 10

©1nuizylae+ud | 25
= po 4250+ 0.0
- pl -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,6,14

T i, ruse+u4 / 25
- pD 4232+ 0.0
[ p1 -36.73+ 0.00

3000

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (4,6,3

AT rnuiLbroe+ud [ 25
- po 4202+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

- 1nui 4z3e+04 / 25
- pO 4200+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 6

EEALEVX u14e+u4/25
- po 4238+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

-1 nuipuse+ud / 25
= pO 4238+ 0.0
p1 -36.74+ 0.00

TP delay [ns]
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2000

1000

TVC(cbch) (4,7,0

A~ 1 nui 2z roe+ud [ 25
e po 4215 0.0
p1 -35.12:+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,7,4

T 18/e+u4 [ 25
pO 4246+ 0.0
p1 -35.22:+ 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(4,7,8

1z 1o8e+04 / 25
4225+ 0.0
-36.3+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (4,7,12

T ro3e+u4 / 25
pO 4270+ 0.0
pl -35.73+ 0.00

L n n n n 1 n
50 100

TP delay [ns]
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TVC(cbch) (4,7,1

X 1 i 3ave+Ud | 25
e po 4230+ 0.0
pL -35.7:+ 0.0

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nui 2yle+u4 / 25
pO 4248+ 0.0
-35.5+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (4.7,9

T naia38e+ud [ 25
po 4250+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 7 13

T nuiLpose+ud / 25
pO 4280+ 0.0
p1 -36.62+ 0.00

TP delay [ns]
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1000
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1000

0

TVC(cbch) (4,7,2)

X~ 1Lz oe+u4 [ 25
po 4235+ 0.0
p1 -35.12+ 0.00

TP delay [ns]

TVC(cbch) (4,7,6

=i 3vpe+04 / 25
pO 4247+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 7, 10

- iz s29e+Ud | 25
pO 4271 0.0
p1 -36.38:+ 0.00

TP delay [ns]

TVC(cbch) (4,7,14

-1 553e+U4 [ 25
pD 4273+ 0.0
pl -36.04 + 0.00
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1000

TVC(cbch) (4,7,3)

o tlsaerud | 25
pO 4252+ 0.0
pL -35.64  0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

- nui43/e+04 / 25
pO 4254% 0.0
p1 -35.44 + 0.00

TVC(c,b ch) (4, 7

TP delay [ns]

1)
T nan 1 pbe+ud / 25
po 4263+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 7 15

Srna 1lre+ud /25
pO 4276+ 0.0
-36.29+ 0.00

TP delay [ns]
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1000

TVC(cbch) (4,8,0

A7 nui ozye+u4 /25
Frcea po 4201+ 0.0
pl -36.32 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,84

- 1L ysge+ud / 25
[Fonse PO 4229+ 0.0
pl -35.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 8,8

T rse+ud /25
- po 4227+ 0.0
pl -35.72+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,812

T rnuiLyule+u4 / 25
= po 4224+ 0.0
pl -34.99 + 0.00
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TVC(cbch) (4.81)

T/ Lble+ud /25
s pO 4208+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

- nuiL grze+u4 [ 25
pO 4219+ 0.0
pL -35.18+ 0.00

=

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 8,9

Tinuy./ze+u4 [ 25
- pO 4247+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,813

~ 1 nuiL byge+ud / 25
= pO 4225+ 0.0
pl -36.08 + 0.00

TP delay [ns]
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TVC(cbch) (4,8,2)

TP delay [ns]

TVC(cbch) (4,86

A7 1 nui49ye+u4 / 25
. po 4213+ 0.0
L pl -35.24 + 0.00

- rnunLyzoe+ud / 25
pO 4231 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(cbch) (4, 8 10

Tz, ryze+u4 | 25
-, po 4267+ 0.0
- pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (4,814

~ i, rose+u4 [ 25
__ pD 4229+ 0.0
L pl -34.34+ 0.00

TP delay [ns]
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TVC(cbch) (4,83)

T onun Laze+ud ] 25
- pO 4213+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

-1 nuz Ugbe+u4 / 25
- pO 42441 0.0
pL -35.31% 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T g u::e+u4/25
po 4258+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(C, bch) (4,815

T nui osae+ud [ 25
= po 4243+ 0.0
p1 -36.02+ 0.00

TP delay [ns]
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TVC(cbch) (4,9,0)

A7 1 nuiuvae+ud /25
po 4184+ 0.0
pl -32.64 + 0.00

Sll) 10‘0
TP delay [ns]
TVC(cbch) (4 9,4)
“nui117e+04 / 25
pO 4226@
pl -33.25+ 0.00
[ C =30.08 [ps/ch] ™. 1
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) (4 9,8

a2 gove+ud | 25
po 4206+ 0.0
pl -32.69+ 0.00

0

TP delay [ns]

TVC(cbch) (4,9,12

T rnuiLgase+u4 [ 25
pO 4254+ 0.0
pl -34.77 + 0.00
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F po 4182+ 0.0
pl -32.65+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

-1 nui 1bse+u4 / 25
pO 4222+ 0.0
pL -32.75+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

Tinan/p4e+u4 [ 25
po 4230+ 0.0
p1 -34.11+ 0.00

TP delay [ns]

TVC(C, bch) (4,9,13

-1 nuiLpbuve+ud / 25
pO 4253+ 0.0
p1 34.3+ 0.0
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TP delay [ns]

TVC(cbch) (4,9,6

K™ 1 nui ioye+u4 / 25
po 4197+ 0.0
p1 325+ 0.0

Srnun13ze+04 [ 25
- pO 4220+ 0.0
[ pl -34.34+ 0.00

TP delay [ns]

TVC(cbch) (4, 9 10

T 1nuig.40ze+04 / 25
po 4240+ 0.0
pl -32.73+ 0.00

TP delay [ns]

TVC(cbch) (4,9,14

1000

~1nuiLp4se+u4 | 25
pD 4263+ 0.0
pl -35.52+ 0.00
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TVC(cbch) (4,9,3)

AT 1L Lsze+ud [ 25
po 4202+ 0.0
pl -32.86+ 0.00

r C=230.43 [ps/ch] .
TP delay [ns]

TVC(c,b ch) (4 9,7

-1 nui 481e+04 / 25
- pO 4233+ 0.0
pL -33.77+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9

T s4e+u4/25
- po 4233+ 0.0
pl -32.93+ 0.00

I C =30.36 [ps/ch] ™ 1

1
50 100

TP delay [ns]

TVC(C, bch) (4,9,15

T nui p3ve+ud [ 25
- pO 4261+ 0.0
p1 -34.38 + 0.00

PR
100

TP delay [ns]
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TVC(CbCh) (4,10,0)

A~ 1nui rore+u4 /25
4203+ 0.0
-36.01+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4,104

- rnug 152e+04 [ 25
pO 4235+ 0.0
pl -36.85+ 0.00

- C -1
5(‘) 10‘0
TP delay [ns]
TVC(c,b, ch) (4, 10 8

1 nuig.pyse+u4 / 25
pO 4234+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (4,10,12

i psbe+u4 / 25
pO 4245+ 0.0
-34.7+ 0.0

1
100

TP delay [ns]
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1000

TVC(chh) (4,10,1)

AT 1 nuLssve+ud [ 25
po 4205+ 0.0
pl -36.28 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,105

-1 Uz ubye+ud / 25
pO 4221+ 0.0
pL -36.67+ 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(4, 10,9

~ 1 nuiLugle+us / 25
pO 4270+ 0.0
p1 -38.47 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (410,13

T inuigyle+ud / 25
pO 4260+ 0.0
pl -36.07 + 0.00

TP delay [ns]
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1000

0

1000

TVC(CbCh) (4,10,2)

K™ zize+04 /25
po 4212+ 0.0
pl -36.61+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4,10,6

- nug112e+04 / 25
pO 4235+ 0.0
pl -37.73+ 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

T nuig.452e+04 [ 25
po 4276+ 0.0
pl -37.5+ 0.0

TP delay [ns]

TVC(cbch) (410,14

~ i, rove+u4 / 25
pD 4258+ 0.0
pl -35.42+ 0.00
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100

TP delay [ns]
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TVC(Cbch) (4,10,3)

AT 1 nun Lyoe+ud [ 25
po 4218+ 0.0
pl -35.93+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

- nu 3z8e+u4 / 25
pO 4246+ 0.0
pL -37.26+ 0.00

100
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nuiz 3ove+u4 25
pO 4287+ 0.0
pl -37.79+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T nui gze+ud [ 25
pO 4259+ 0.0
p1 -35.6+ 0.0

TP delay [ns]
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1000

TVC(CbCh) (4,11,0)

A1 L sse+ud / 25
P e, po 4174+ 0.0
p1 -34.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

T LYo /e+ud / 25
E pO 4206+ 0.0
pl -36.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (411,8

T rnuiLys4e+u4 [ 25
- po 4210+ 0.0
pl -34.93 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (4,11, 12

K71 nui suge+u4 / 25
= po 4227+ 0.0
pl -34.82+ 0.00
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50 100

TP delay [ns]

TVC(Cbch) (4,11,1)

4000 &

Fome, po

AT 1 nunLsive+ud [ 25
4174+ 0.0
pl -35.06 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (4,11,5

4000 fm, pO

pl

[ns]

“nu1u/e+u4 / 25
4220+ 0.0
-36.54 + 0.00

3000 -

2000

w00 C = 27.37 [ps/ch

TP delay

TVC(eh.eh)=(4, 11, 9

4000 faem po

[ns]

~ 1 nu.p4ye+ud 25
4247+ 0.0
pl -35.74 + 0.00

3000

2000

1000

1
50 100

TP delay

TVC(c, bch) (411,13

4000 5 pO

[ns]

~ 1 nui oyae+ud [ 25
4246+ 0.0
pl -35.97 + 0.00
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1000

TP delay

[ns]
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TVC(CbCh) (4, 11 2)

TrnuLzse+u4 [ 25
. pO 4190+ 0.0
L p1 -35.95+ 0.00

TP delay [ns]

TVC(cbch) (4,11,6

1000

-1 nuz,up4e+u4 [ 25
- pO 4218+ 0.0
[ pl -36.14 + 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

X7 1 nuiz ogye+u4 / 25
-, po 4252+ 0.0
- pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 11w pbde+u4 [ 25
__ po 4246+ 0.0
L pl -35.93+ 0.00

PR R T
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TVC(cbch) (4,11,3)

AT 1L szze+ud [ 25
4203+ 0.0
pl -35.78 + 0.00

po

TP delay

TVC(cbch) (4,11,7

o= pO

[ns]

- nui 114e+04 / 25
4227+ 0.0
-35.9+ 0.0

50 1(;0
TP delay

TVC(cbch) (4, 11 11

= pO

[ns]

T nai/18e+u4 / 25
4262+ 0.0
pl -35.89+ 0.00

TP delay

TVC(c, bch) (411,15

[ns]

<1 nui vope+ud / 25
4236+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]
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TVC(CbCh) (4, 12 0)

T rnuiLzaze+04 [ 25
o, pO 4200+ 0.0
p1 -34.25+ 0.00

TP delay [ns]

TVC(cbch) (4,124

- 11U a6ae+04 25
pO 4208+ 0.0
34.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

1 nuiLyoze+u4 | 25
PD 4229+ 0.0
p1 -34.74 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (412,12

T, r1ve+u4 / 25
pO 4217+ 0.0
pl -33.99+ 0.00
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TVC(chh) (4,12,1)

Fuase po

AT 1 nuLsroe+ud [ 25
4203+ 0.0
p1 -34.89+ 0.00

TP delay

TVC(c, bch) (4,125

[ns]

=11 4bbe+04 / 25
4221+ 0.0
pl -35.03+ 0.00

50 1(;0
TP delay

TVC(c, bch) (4,12,9

pO
pl

[ns]

T inaig134e+04 / 25
4230+ 0.0
-33.48 + 0.00

TP delay

TVC(C, bch) (412,13

e, po

[ns]

T nuip1ye+ud / 25
4213+ 0.0
pl -34.67 + 0.00

TP delay

[ns]
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TVC(cbch) (4.12,6

T sr4e+04 /25
. pO 4226+ 0.0
o pl -36.19+ 0.00

3000

- rnub41e+04 / 25
- pO 4226+ 0.0
[ pl -35.66 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 12, 10

T zpoe+ud /25
po 4262+ 0.0
p1 -34.3+ 0.0

TP delay [ns]

TVC(cbch) (412,14

~ 1L zope+ud | 25
- pD 4219+ 0.0
[ p1 -35.52+ 0.00
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AT 1 nun L ooe+ud [ 25
4223+ 0.0
pl -36.26 + 0.00

TP delay

TVC(c, bch) (4,12,7

- pO

[ns]

- 1L B25e+U4 | 25
4241+ 0.0
pl -35.21+ 0.00

TP delay

TVC(c, bch) (4, 12 11

= pO

[ns]

T onan2uze+u4 | 25
4254+ 0.0
p1 -34.16 + 0.00

TP delay

TVC(cbch) (4,12,15

[ns]

T inairule+ud /25
4222+ 0.0
-34.61+ 0.00

TP delay

[ns]
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TVC(CbCh) (4, 13 0)

© L sove+u4 / 25
pO 4206+ 0.0
pl -35.77 + 0.00
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100

TP delay [ns]

TVC(cbch) (4,134

- rnun 1 bye+usd /25
4215+ 0.0
-36.4+ 0.0

- C -1
5(‘) 10‘0
TP delay [ns]
TVC(c,b, ch) (4, 13 8

T z0ze+u4 /25
po 4234+ 0.0
pl -35.45+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4.13,12)

1L bype+u4 / 25
pO 4239+ 0.0
pl -35.83+ 0.00
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po 4214+ 0.0
pl -35.82+ 0.00
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TVC(c, bch) (4,135

=1 i bgye+u4 [ 25
pO 4234+ 0.0
-36.56 + 0.00

1(;0
TP delay [ns]

TVCebeh)=(4, 13,9

T 1 nu.18Ye+u4 / 25
po 4246+ 0.0
-36+ 0.0

1
100
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TVC(C, bch) (413,13

T nuiLgnae+ud [ 25
pO 4235 0.0
p1 -35.48 + 0.00
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K~ 14 0e+04 ] 25 i aterud 25 K- 1 Sooe+04 1 25 % i Suoe+ud ] 25
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pL -32.79+ 0.00

TVC(c,b ch) (5, l

TP delay [ns]

T asze+u4/25
po 4251+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (51,15

Tonan1a1e+u4 /25
po 4213+ 0.0
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TVC(c,b ch) (5, 4

T, uze+u4/25
= pO 4264+ 0.0
p1 -37.44 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

T nui ooye+ud / 25
- po 4219+ 0.0
p1 -35.12+ 0.00

TP delay [ns]



TVC(cbch) (5,5,0)

4000 [

K71 nui ozae+04 /25
4183+ 0.0
pl -36.33+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (55,4

4000 [

- i zb3e+ud [ 25
pO 4186+ 0.0
pl -36.71 0.00

3000

2000 [~

1000~ C

50 10‘0
TP delay

TVC(cbch) (5 58

4000 [

[ns]

T rnugyr4e+u4 [ 25
4239+ 0.0
pl -37.36+ 0.00

3000

2000

1000

0

TP delay

TVC(cbch) (55,12

4000 [

[ns]

T syze+u4 | 25
4229+ 0.0
pl -35.22+ 0.00

3000

2000

1000

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51)

F PO

AT 1L oyoe+ud [ 25
4191+ 0.0
pl -37.87 + 0.00

|-
100

TP delay [ns]

TVC(c,b ch) (5 55

=1 nui 3bbe+u4 / 25
- pO 4190+ 0.0
pL -36.85+ 0.00

TP delay

TVC(c,b ch) (5 59

e, po

[ns]

<1 nup.U4be+u4 | 25
4264+ 0.0
pl -37.37 + 0.00

TP delay

TVC(C, bch) (5,5,13

[ns]

T inai zyze+ud [ 25
4228+ 0.0
pl -34.63+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (5,5,2)

™, po

K™ 1nuioiye+ud /25
4203+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (5,56

1000

0

- i b3be+u4 / 25
- pO 4202+ 0.0
[ pl -36.12+ 0.00

TP delay

TVC(cbch) (5, 5 10

F= b

[ns]

1 nuiz.494e+04 | 25
4270+ 0.0
p1 -37.04 + 0.00

TP delay

TVC(cbch) (55,14

[ns]

T szie+u4 /25
4240+ 0.0
pl -35.86 + 0.00

TP delay

PR R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3)

e, pO

pl

T nun Lase+ud [ 25
4209+ 0.0
-35.93+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5 57

S nui /3/e+04 / 25
e, pO 4206+ 0.0
pL -36.06+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 5

EEALEVX usue+u4/25
4266+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (5,5,15

T nai srae+u4 /25
4229+ 0.0
-34.85+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,6,0

A7 1nun zsse+ud [ 25
. po 4182+ 0.0
pl -37.55+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (56,4

T rnu.az9e+04 | 25
- pO 4196+ 0.0
pl -37.06+ 0.00

TP delay [ns]

TVC(cbch) (5 6,8

T rnuiLysse+u4 / 25
po 4216+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (5,6,12

Ty r1e+u4 /25
pO 4233+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6, 1

x- 1 i Szae+04 | 25
- po 4198+ 0.0
pL -38.24+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,5

-1 nu 34e+04 [ 25
P po 4188+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

T inungye+ud [ 25
= po 4225+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(C, bch) (5,6,13

Tonan g Bze+ud [ 25
- pO 4222+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,6,2)

A~ 1 nui zole+u4 /25
F po 4211+ 0.0
L pl -38.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (56,6

Tz bz3e+u4 | 25
4195+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(cbch) (5, 6 10

1000

0

T nub3se+u4 | 25
= po 4243+ 0.0
- pl -36.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,6,14

T L p41e+u4 [ 25
= pD 4211+ 0.0
[ p1 -35.73+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3

AT rnuiLsbre+ud [ 25
P po 4214+ 0.0
pl -37.73+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,7

- 1nuz1ze+u4d / 25
4205+ 0.0
-36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

Sy /se+u4/25
4245+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (5.6, 15

T nui vbze+ud [ 25
pO 4230+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1w ooze+04 [ 25
', PO 4200+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (57,4

-1 b34e+04 / 25
- pO 4211+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (5 7,8

©1nuz5uze+u4 [ 25
PD 4225+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (57,12

T i ss4e+U4 / 25
PO 4249+ 0.0
-35.61+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.7,1)

- 1w Lboe+ud / 25
[, pO 4213+ 0.0
pL -36.19:+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna 1402/ 25
- DU 4214+ 0.0
Pl -36.1630.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T 4.6/e+04 /25
F pO 4256+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

T 401e+04 /25
= pO 4254+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000
3000

2000

TVC(cbch) (5,7,2)

TP delay [ns]

TVC(cbch) (57,6

1000

X~ 1w r1re+U4 /25
- po 4205 0.0
3 Pl -36.25+ 0.00

3000

TN r37e+04 [ 25
- pO 4219+ 0.0
3 PL_ -36.25% 0.00

TP delay [ns]

TVC(cbch) (5, 7 10

© 1 nuz189e+u4 / 25
F DO 4253+ 0.0
r pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (57,14

1000

T nuiLaz9e+U4 [ 25
PD 4253+ 0.0
pl -35.33 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

A” 1 nuiLbyye+u4 / 25
. po 4224+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

S nui /ve+u4 [ 25
F= PO 4230+ 0.0
Pl -35.15: 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR yz::e+u4/25
- pO 4256+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(C, bch) (5.7,15

T 18ye+u4 [ 25
PO 4254+ 0.0
pl -35.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,8,0

A7 1nun 3soe+u4 /25
e, po 4212+ 0.0
p1 -34.98 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (58,4

- i 3bze+04 / 25
- pO 4192+ 0.0
p1 -34.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T nuig.gEoe+U4 / 25
4222+ 0.0
-35.8+ 0.0

1
100

50
TP delay [ns]
TVC(Cbch) (5, 8 12)
- 1L buye+ud / 25
e po 4262+ 0.0
pl -35.44+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT 1L usoe+ud [ 25
- po 4196+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

=1 bzZoe+u4 / 25
o pO 4196+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nun. yg/e+ud [ 25
= pO 4251% 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(C, bch) (5,813

T 1 nuiLagse+ud / 25
4267+ 0.0
-36.31+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (5,8,2)

A~ 1nuiz41e+04 /25
po 4200+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (58,6

T rnuaiLb/re+V4 [ 25
pO 4220+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

0

1000

Tz 3z3e+04 | 25
-, po 4263+ 0.0
L pl -35.74 + 0.00

TP delay

TVC(cbch) (5,814

- p"

[ns]

T rnuiLzole+u4 [ 25
4248+ 0.0
pl -34.45+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT 1 nuiLsz4e+U04 [ 25
- po 4228+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- nui brye+u4 [ 25
- pO 4214+ 0.0
pL -35.06+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 8

EEALEVX Ub/e+U4/25
- po 4275+ 0.0
-36.7 £ 0.0

1
100

TP delay [ns]

TVC(C, bch) (5,815

<1 nuiquye+ud 25
4238+ 0.0
-34.84+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,9,0

A1 zroe+04 [ 25
= po 4229+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(cbch) (59,4

-1 nuiL439e+04 / 25
- pO 4214+ 0.0
p1 -36.41+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5 9,8

-, f1se+ud [ 25
- pD 4218+ 0.0
p1 -34.85+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (5,9,12

a1 oe+ud / 25
4244+ 0.0
-35.81+ 0.00

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,91

A 1L 2ure+Ud | 25
e, po 4228+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

- 1nuiL4/4e+04 [ 25
- pO 4222+ 0.0
p1 -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,9

~ 1 naiy 3gYe+ud [ 25
= pO 4238+ 0.0
p1 -34.36 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 9 13

T inuiL oo /e+ud [ 25
- pO 4245+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,9,2)

A1 zs1e+04 /25
__ po 4232+ 0.0
- pl -36.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (59,6

- 1L 488e+04 [ 25
- pO 4243+ 0.0
[ pl -37.25+ 0.00

TP delay [ns]

TVC(eb,oh)=(5, 9, 10

- nuizylve+ud | 25
- pO 4239+ 0.0
[ pl -33.48+ 0.00

TP delay [ns]

TVC(Cbch) (5, 9 14

pD
pl

“rnu L 4pe+ud [ 25
4228+ 0.0
-34.06 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,93

A1 nuiLzyre+ud [ 25
- po 4252+ 0.0
pL -37.06+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

-1 nui bzbe+u4 / 25
- pO 4250+ 0.0
p1 -37.14+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 9

=g, jbqeﬂm 125
e pO 4247+ 0.0
p1 -34.38+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 9 15

-1 nuiLqp0e+u4 / 25
po 4248+ 0.0
-35.38 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

TrnuLzr1e+04 /25
P pO 4159+ 0.0
pl -35.17 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.10,4

T rnuiLz41e+04 / 25
pO 4212+ 0.0
pl -35.13+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 10 8

T 1nug.1y3e+u4 / 25
- po 4219+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

T rnuiLs13e+u4 / 25
pO 4248+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT rnun L 3ze+ud [ 25
- po 4185+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c, bch) (5,10,5

- nui 313e+04 / 25
e, pO 4205+ 0.0
p1 -34.93+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 10

T a3 /4e+04 25
- pO 4240+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (510,13

TinuiLas/e+ud [ 25
pO 4257+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,10,2)

A7 1 nun suse+u4 / 25
— po 4179+ 0.0
L pl -34.8+ 0.0

TP delay [ns]

TVC(cbch) (5.10,6

1000

-1 nuiL45ze+04 [ 25
- pO 4227+ 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

0

© 1z zy4e+04 | 25
. po 4266+ 0.0
- pl -37.18+ 0.00

TP delay [ns]

TVC(cbch) (5.10, 14

T rnuiLgsse+ud [ 25
F pD 4250+ 0.0
L pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT rnuiLsrse+ud [ 25
- po 4185+ 0.0
pl -35.16+ 0.00

TP delay [ns]

TVC(c, bch) (5,10, 7

- nublie+ud [ 25
- pO 4233+ 0.0
pL -35.50+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 1

TnuiLgs/e+u4 /25
= po 4258+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

T naiquse+ud [ 25
= pO 4230+ 0.0
p1 -35.6+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

AT 1nuiLurse+ud /25
4165+ 0.0
-33.51+ 0.00

TP delay

TVC(cbch) (5, 11 4

[ns]

=g Ao)seﬂJA 125
5 po 4226+ 0.0
pl -35.38 + 0.00

FC T

| 1 N
50 100
TP delay [ns]
TVC(c,b, ch) (5, 11 8)

© 1 nu bpbe+ud / 25
= po 4225+ 0.0
p1 -36.61 0.00

TP delay

TVC(c,b Ch) (5, 11 12

E pO

[ns]

- i s Ye+ud [ 25
4238+ 0.0
p1 -36.55+ 0.00

TP delay

[ns]

TVC(CbCh) (5,11,1)

4000 po

A 1L zibe+ud [ 25
4178+ 0.0
p1 -33.39 + 0.00

3000

2000 -

w0l C = 29.95 [pS/Ch]

TP delay

TVC(c,b Ch) (5, 11 5

4000 o, pO

[ns]

- 1L s8Ye+u4 | 25
4217+ 0.0
pl -35.87 + 0.00

3000

2000

1000

TP delay

TVC(e.heh)=(5, 11, 9

4000 [

[ns]

Tinun.//1e+u4 /25
4244+ 0.0
pl -35.35+ 0.00

3000

2000

1000

1
50 00

TP delay

TVC(c,b ch) (5, 11 13

4000 [ ,,o

[ns]

T nuipble+ud / 25
4236+ 0.0
pl -36.61+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (5,11, 2)

A~ 1w usse+u4 [ 25
__— po 4185+ 0.0
: pl -33.17 + 0.00
F C=30.15[ps/ch] ™. 1
1 1
50 100
TP delay [ns]

TVC(chh) (5, 11 6

- i b3ve+ud / 25
4237+ 0.0
-36.78 + 0.00

= o
L p1
F C = 27.19 [ps/ch .
" o
TP delay [ns]

TVC(e,Deh)=(5, 11, 10

X© 1z 3oie+Ud | 25
= po 4250+ 0.0
L pl -34.94+ 0.00

TP delay

TVC(c,b Ch) (5,11, 14

[ns]

X~ 1 4o1e+04 /25
- po 4227+ 0.0
[ p1 -35.31+ 0.00

TP delay

L n n n n 1 n
50 100

[ns]

TVC(Cbch) (5,11,3)

4000 [ po

A~ 1 nuiLUsYe+U4 [ 25
4184+ 0.0
pL -33.07+ 0.00

3000

2000

woof- C =30.24 [pS/Ch] -

TP delay

TVC(CbCh) (5, 11 7

4000 s pO

[ns]

S nui ro/e+u4 [ 25
4249+ 0.0
pl -36.39 % 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(cbch) (5, 11 11

~inuiLyy/e+ud [ 25
4252+ 0.0
pl -35.69 + 0.00

4000 [ue.

pO

[ns]

3000

2000

1000

TP delay

TVC(c,b Ch) (5, 11 15

4000 [Gu.

[ns]

1 nuiquse+ud [ 25
4225+ 0.0
p1 -35.24 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T go1e+u4 [ 25
4182+ 0.0
-34.61+ 0.00

1
50 100

TP delay [ns]
TVC(c,b ch) (5, 12 4)
“ i /0Be+u4 / 25
o pO 4204% 0.0
pl -36.82+ 0.00
e -
1 1 -F
50 100

TP delay [ns]

TVC(cbch) (5, 12 8

T z13e+04 /25
= po 4200+ 0.0
p1 -36.06 + 0.

-36.06 + 0.00

TP delay [ns]

TVC(Cbch) (5, 12 12

© i pzse+u4 / 25
4214+ 0.0
-35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

= po

A1 L adve+Ud | 25
4218+ 0.0
-35.62:+ 0.00

p1

TP delay [ns]

TVC(c,b Ch) (5, 12 5

-1 nui blze+u4d / 25
4207+ 0.0
-36.29 + 0.00

TP delay [ns]

TVCEeDeh)=(5, 12,9

- po

pl

T nugsz1e+u4 /25
4213+ 0.0
-36.44+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 12 13

e pO

T inuin33e+ud [ 25
4197+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000

2000

4000 =,
3000
2000

1000

1000

0

TVC(CbCh) (5, 12 2)

Tl ziye+ud | 25
- pO 4192+ 0.0
L pl -33.91+ 0.00
FC = 29.49 [ps/ch™., 1
1 1
50 100
TP delay [ns]

TVC(Cbch) (5, 12 6

T i /4/e+04 [ 25
4209+ 0.0
pl -36.16 + 0.00

- pO
L C = 27.65 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (5, 12 10

pO
pl

T zole+ud /25
4240+ 0.0
-35.93+ 0.00

1
100

TP delay

TVC(CbCh) (5, 12 14

[ns]

T rnuiLpl4e+ud [ 25
4199+ 0.0
pl -35.43+ 0.00

TP delay

PR R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

e po

AT 1L sooe+ud [ 25
4195+ 0.0
p1 -35.46 + 0.00

TP delay

TVC(c,b Ch) (5, 12 7

E. pO

[ns]

- nui 49e+04 [ 25
4220+ 0.0
pl -36.55+ 0.00

50 1(;0
TP delay

TVC(cbch) (512,11

pO
pl

[ns]

-1 nuiz.ugge+u4 25
4236+ 0.0
-35.39+ 0.00

TP delay

TVC(cbch) (5, 12 15

[ns]

-1 nui oyae+ud [ 25
4204+ 0.0
-35.27 + 0.00

TP delay

[ns]



TVC(cbch) (5.13,0)

4000

3000

2000

1000

T inugoyre+ud [ 25
[, PO 4291+ 0.0
pl -37.09 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.13,4

4000

3000

2000

1000

- i bl14e+04 / 25
[Fouse PO 4229+ 0.0
pl -36.25+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

4000

3000

2000

1000

0

< rnuiza/e+04 /25
[ PD 4269+ 0.0
pl -34.07 + 0.00

0

TP delay [ns]

TVC(cbch) (513,12

4000

3000

2000

1000

~ 1 nuiL bpoe+ud / 25
= pO 4235+ 0.0
pl -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

AT uzb3ae+u4 [ 25
[ PO 4282+ 0.0
pl -36.97+ 0.00

TP delay [ns]

TVC(c, bch) (5,135

- ”Uli4de+04/25
o DU 4217+ 0.0
pL -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

~ 1 nuig roye+u4 / 25
[~ DO 4304 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (513,13

T 3use+u4 [ 25
= pO 4238+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (5.13,2)

T e+ud [ 25
[, PO 4298+ 0.0
L pl -37.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

= 1 nur boye+ud [ 25
4248+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (5, 13 10

T nuiLy1Ze+u4 / 25
[~ DO 4316+ 0.0
- pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (5.13, 14

1000

TnuiLaz1e+04 /25
- po 4243+ 0.0
L pl -35.32:+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

R 1 syae+ud | 25
[, PO 4309+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c, bch) (5,137

-1 nun 324e+04 / 25
- PO 4259+ 0.0
pL -37.18+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 11)

ut 1049 /25
pO 4319+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(cbch) (513,15

T 5zye+u4 [ 25
- po 4251% 0.0
pl -35.4 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T rnuizplie+ud /25
4240+ 0.0
pl -36.38+ 0.00

1
50 100

TP delay

TVC(cbch) (5.14,4

pO

[ns]

a0 /e+04 [ 25
4245 0.0
pl -36.08 + 0.00

50 00
TP delay [ns]
TVC(cb, ch) (5.14,8)
© 1 nug,uube+u4 / 25
b, po 4205+ 0.0
pl -35.25+ 0.00

1
0 50 100

TP delay

TVC(cbch) (5,14, 12

- po
p1

[ns]

Tz urze+u4 | 25
4285+ 0.0
-37.3+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

ro1e+u4 /25
4234+ 0.0
-35.51+ 0.00

A1,

P PO

p1

TP delay [ns]

TVC(c, bch) (5,145

[, pO

-1 nui blze+u4d / 25
4256+ 0.0
-36.86 + 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

pO
pl

T inup, r21e+U4 / 25
4236+ 0.0
-34.71+ 0.00

TP delay [ns]

TVC(cbch) (514,13

bee, pO
p1

T inui g rge+ud [ 25
4271+ 0.0
-36.13+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

0

1000

TVC(CbCh) (5, 14 2)

pO

pl

Trnwsurie+ud /25
4243+ 0.0
-35.5+ 0.0

TP delay

TVC(cbch) (5.14,6

[ns]

- i b3pe+u4 / 25
4249+ 0.0
pl -35.77 + 0.00

P~ "
- C =27.96 [ps/ch .
- oz
TP delay [ns]

TVC(cbch) (5, 14 10

= o

1 nuz.4s4e+04 | 25
4237+ 0.0
-34.6 + 0.0

pl

TP delay

TVC(cbch) (5. 14,14

- p"

[ns]

T rnuiLyule+ud / 25
4260+ 0.0
pl -36.02 + 0.00

TP delay

PR R T
50 100

[ns]

TVC(Cbch) (5,14,3)

X- 1. (4ae+U4 | 25
4236+ 0.0
p1 -34.76+ 0.00

4000 fwm

po

3000

2000

1000

TP delay

TVC(c, bch) (5,14, 7

4000 fm pO

[ns]

-1 nui bble+ud / 25
4278+ 0.0
pl -35.94+ 0.00

3000 -

2000 -

oo C =27.83 [ps/ch

TP delay

TVC(cbch) (5 14,11

T nuiz.z44e+04 25
4236+ 0.0
p1 -34.52+ 0.00

4000 [ue.

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (5,14, 15

4000 fum po

[ns]

T nui yzse+ud [ 25
4263+ 0.0
p1 -35.79+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T, 3ve+u4 [ 25
pO 4199+ 0.0
p1 -36.95 + 0.00

TP delay [ns]

TVC(Cbch) (5, 15 4

T rnuiL3z1e+04 / 25
— pO 4194+ 0.0
p1 -35.61+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuz.402e+04 | 25
po 4222+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12

T~ 1nuiz.4use+ud | 25
pO 4223+ 0.0
pl -34.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

A~ 1 nuiL, rove+u4 [ 25
J— po 4184+ 0.0
p1 -36.23 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 5

Tnan 1 34e+04 /25
pO 4204+ 0.0
pl -35.58 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (5, 15

1 nu gbye+ud / 25
- pO 4246+ 0.0
p1 -37.16 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T nuiz.os3e+ud [ 25
- pO 4224+ 0.0
p1 -36.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (5,15,2)

X~ 1 i 80se+U4 [ 25
F... po 4210+ 0.0
L pl -36.52+ 0.00

3000

TP delay [ns]

TVC(Cbch) (5, 15 6

T a1 ple+u4 /25
- pO 4217+ 0.0
- pl -36.67 + 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10

-1 nuz,gule+ud / 25
- po 4244+ 0.0
L pl -36.49 + 0.00

3000

1000

0

TP delay [ns]

TVC(CbCh) (5, 15 14

T rnuizgo1e+04 /25
-, pD 4232+ 0.0
L p1 -37.36+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

A~ 1 nuiLb3le+ud / 25
Fo po 4211+ 0.0
pL -35.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

~1nuiLa7oe+ud [ 25
= po 4213+ 0.0
p1 -35.76 + 0.00

50 160
TP delay [ns]

TVC(e,beh)=(5, 15, 11

-1 nuiLayye+ud / 25
- pO 4254+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

T nuiz.quse+ud [ 25
- po 4219+ 0.0
p1 -35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,0,0)

A~ 1 nui 430e+04 | 25
4150+ 0.0
-33.91+ 0.00

TP delay [ns]

TVC(cbch) (60,4

- 1nuiz.4u3e+04 [ 25
Faase po 4170+ 0.0
pl -33.89 0.00

TP delay [ns]

TVC(cbch) (6 0,8

-1 Zave+ud | 25
b pD 4177+ 0.0
p1 -35.85+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6,0,12

© L gose+u4 / 25
= po 4208+ 0.0
pl -35.19+ 0.00

P TR S ST R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

AL 4s(e+Ud ] 25
s po 4166 + 0.0
pL -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nu Zobe+u4d [ 25
4180+ 0.0
-35.4 + 0.0

50 105
TP delay [ns]

TVC(c,b ch) (6 0,9

- g Sz3e+0d [ 25
E po 4197+ 0.0
pL -36.44 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T 1 nui s40e+ud / 25
3 pO 4203+ 0.0
p1 -35.54 + 0.00

P R T
50 100

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (6,0,2)

1000

K™ 1nuias1e+04 / 25
Fuwe po 4171 0.0
L pl -34.79 + 0.00

3000

TP delay [ns]

TVC(cbch) (60,6

1000

-1 nuz byge+ud | 25
... pO 4197+ 0.0
[ pl -35.66 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

- 11U, 108e+04 / 25
F. po 4215+ 0.0
o pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T rnuiLyye+u4 [ 25
4198+ 0.0
-35.01+ 0.00

P R TR |
50 100

TP delay [ns]

TVC(cbch) (6,0,3

4000 &

3000

2000

1000

AT rnuaiL4r3e+U4 [ 25
o, po 4186+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

4000 5

3000

2000

1000 [~

-1 nu Zoze+u4 | 25
pO 4204+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O

4000 &

3000

2000

1000

=i, Me+u4/25
pO 4220% 0.0
-35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

4000

3000

2000

1000

-1 nui ysae+ud [ 25
po 4214+ 0.0
-35.81+ 0.00

P B TR |
50 100

TP delay [ns]



TVC(cbch) (6,1,0)

4000

3000

2000

1000

X~ 1L pole+U4 /25
o po 4175+ 0.0
p1 -36.76 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

4000

3000

2000

1000

-1z 390e+04 / 25
pO 4177+ 0.0
p1 -34.12:+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

4000

3000

2000

1000

~1nuiLysse+U4 / 25
- po 4199+ 0.0
p1 -34.48 + 0.00

%

TP delay [ns]

TVC(cbch) (61,12

4000

3000

2000

1000

1 nuiLyove+u4 / 25
= po 4198+ 0.0
pl -35.58 + 0.00

PR TR S ST R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

A1 L Base+U4 | 25
P e po 4195+ 0.0
pL -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 Uz yage+u4 [ 25
= po 4162+ 0.0
pl -35.14 + 0.00

50 105
TP delay [ns]

TVC(c,b ch) (6 1,9

- s So3e+ud [ 25
e, po 4232+ 0.0
pL -34.72.+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T inuiLyroe+ud [ 25
- pO 4192+ 0.0
pl -35.36 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (6,1,2)

X~ 1L b1ze+u4 [ 25
F.. po 4210+ 0.0
L pl -37.74+ 0.00

TP delay [ns]

TVC(cbch) (61,6

T rnug.u8/e+u4 [ 25
- pO 4198+ 0.0
[ p1 -35.93+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

-1 nuz,uvae+ud [ 25
- po 4244+ 0.0
F pl -35.41+ 0.00

TP delay [ns]

TVC(cbch) (61,14

S oL yrie+ud [ 25
= pD 4191% 0.0
L p1 -34.93+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A™ 1L re+ud [ 25
po 4194+ 0.0
p1 -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

= rnuz3yre+ud [ 25
= po 4191+ 0.0
pl -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

AL 54be+u4/25
= pO 4254+ 0.0
p1 -35.42+ 0,00

TP delay [ns]

TVC(c,b ch) (6, 1 15

_ - L s0se+Ud | 25
po 4199+ 0.0
p1 -35.51+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,2,0

X~ 1 nuizuu4e+U4 [ 25
Faese LY 4200+ 0.0
pl -37.31+ 0.00

TP delay [ns]

TVC(cbch) (62,4

T nu 1o3e+04 / 25
F pO 4214 0.0
pl 3576+ 000

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

T nu 1z3e+04 / 25
- pO 4220+ 0.0
pl -34.88 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (6,2, 12

~1nu, 140e+04 / 25
= pO 4212+ 0.0
pl -34.77 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

AT 1 nuiz,120e+u4 [ 25
e, po 4210+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

- nuz 115e+04 / 25
I DU 4220+ 0.0
Pl -36.04 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 2,9

- nug.usbe+u4 / 25
= pO 4264+ 0.0
pl -36.92.+ 0.00

TP delay [ns]

TVC(C, bch) (6,213

Tz zzge+u4 | 25
= pO 4239+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

TP delay [ns]

TVC(cbch) (62,6

i Zsaevud ] 25
o PO 4209 0.0
3 Pl -3529% 0.00

T rnuz0r4e+04 [ 25
=, pO 4235+ 0.0
- Pl 3563+ 0.00

TP delay [ns]

TVC(cbch) (6, 2 10

0

T rnug1se+u4 /25
- DO 4264+ 0.0
F pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,2 14

~ 1 nuz,ub4e+ud [ 25
= pD 4225 0.0
F pl -35.22 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

AT 1 nuiz21oe+U4 [ 25
F PO 4213% 0.0
Pl -36.36% 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nuz.2uye+u4 / 25
4249+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 2

AL 5a1e+u4/25
- p0 4276+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

Trzalie+ud /25
- pO 4244+ 0.0
pl -35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,3,0

A7 1 nui p4ye+ud [ 25
- po 4196+ 0.0
pl -36.58 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (63,4

- 1nuz,gyze+ud | 25
e, pO 4230 0.0
pl -37.35+ 0.00

I C=26.77 [ps/c ]
5(‘) 100 -
TP delay [ns]
TVC(c,b ch) (6 3,8

1nuz3uve+u4 | 25
po 4236+ 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,312

Tz 13ze+04 /25
pO 4235+ 0.0
pl -35.59 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1L oose+ud [ 25
- po 4201+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

“1nuzu4/e+u4 [ 25
pO 4233+ 0.0
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AT 1L boze+ud [ 25
_— po 4220+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

- nui obe+u4 / 25
pO 4237+ 0.0
p1 -35.84 + 0.00

TVC(c,b ch) (7, 1

TP delay [ns]

1)
~ 1 nuizylye+ud / 25
po 4261+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(cbch) (71,15

T nui guse+ud / 25
po 4227+ 0.0
p1 -35.18+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

AT 1nunasze+04 /25
P, po 4205+ 0.0
pl -36.12+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (72,4

- rnuz 194e+04 / 25
Foe pO 4185+ 0.0
pl -35.19+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7,2,8

©1nuz.bs4e+04 [ 25
= pO 4231+ 0.0
pl -37.39+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T zuse+ud /25
pO 4213+ 0.0
pl -35.97 + 0.00

TP delay [ns]
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1000

4000 [,

3000

2000

1000

TVC(cbch) (7,2,1)

AT 1 nunLssoe+ud [ 25
s po 4189+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

S inu2(re+ud [ 25
= po 4205+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T nun.boe+ud [ 25
= po 4236+ 0.0
pl -35.39 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.2,13

Tinuzus/e+ud [ 25
pO 4211+ 0.0
pl -35.72+ 0.00

TP delay [ns]
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1000
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1000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

K71 nuiL4o0e+04 / 25
o po 4197+ 0.0
L pl -36.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

- rnuz 134e+04 [ 25
e pO 4187+ 0.0
L pl -34.44 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

Tinug1/1e+04 /25
e, po 4253+ 0.0
I pl -36.71+ 0.00

3000

0

TP delay [ns]

TVC(cbch) (7,214

T/ r3e+04 /25
pD 4223+ 0.0
pl -35.42+ 0.00

PR SR T
50 100

TP delay [ns]
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1000
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1000
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2000

1000

TVC(cbch) (7,2,3)

AT 1L ozse+u4 [ 25
po 4211+ 0.0
p1 -36+ 0.0

TP delay [ns]

TVC(c,b ch) (7 2,7

Snun 2.32e+04 1 25
4210+ 0.0
-35.9+ 0.0

TVC(c,b ch) (7, 2

50 1(;0
TP delay [ns]

T, 449e+u4/25
pO 4258+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

-1 nuiz.usse+ud [ 25
po 4228+ 0.0
p1 -35.52+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,3,0)

e, po

pl

K™ 1 nui ozoe+ud / 25
4184+ 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]
TVC(cbch) (7 3,4
Faase, pO

- i bbye+ud [ 25
4176+ 0.0
-35.49 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7 3,8

1 nuiLgyze+u4 | 25
4193+ 0.0
-36.09 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (7,312

T Ly e+u4 /25
4214+ 0.0
-36.34 + 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (7,3,1)

Fomes po

p1

A7 1 nuiLbuye+ud [ 25
4194+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nui by /e+u4 / 25
4187+ 0.0
-36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

==, po

T nup.3y1e+ud / 25
4212+ 0.0
-36.65 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

= pO

T nuiLpoze+ud / 25
4205+ 0.0
-36.16 + 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

P PO

pl

K™ 1 nuiosse+ud /25
4200+ 0.0
-36.2+ 0.0

TP delay [ns]
TVC(cbch) (7.3,6)
T rnurg, r45e+04 [ 25
P pO 4191+ 0.0
: p1 -35.78::‘
L C = 27.95 [ps/ch .
1 L -
50 100

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

= 90

T 1nuzbyle+ud [ 25
4231+ 0.0
-36.99 + 0.00

pl

TP delay [ns]

TVC(cbch) (7,314

pD
pl

~ 1L pose+ud / 25
4209+ 0.0
-35.95+ 0.00

TP delay [ns]
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1000
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1000

TVC(c,b ch) (7,3,

A

Fones, po

pl

3

nuiL bobe+u4 / 25
4200+ 0.0
-36.38+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 3,7

-

E pO
pl

nur15/e+04 /25
4195+ 0.0
-35.29 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, 3

Ty ase+u4/25
4239+ 0.0
-36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (7,3,

X1

15

nuiL8Ube+u4 / 25
4221+ 0.0
-35.83+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A7 1 nui goae+ud / 25
- po 4188+ 0.0
pl -35.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.4,4

- i 381e+u4 / 25
Fraese. pO 4211+ 0.0
p1 -35.64 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.ch)=(7, 4,8

T rnuzpr4e+u4 | 25
4211+ 0.0
-34.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

©1nuiz4zve+04 | 25
= po 4216+ 0.0
pl -36.02+ 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7.4,1)

AT 1 nuzus4e+u4 [ 25
Foase po 4184+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

=1 Ui bobe+u4 / 25
pO 4213+ 0.0
p1 -35.24+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

T inuw, rzoe+u4 / 25
= po 4232+ 0.0
p1 -34.97 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,13

Tinuz/1e+ud /25
pO 4223+ 0.0
pl -35.33+ 0.00

TP delay [ns]
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3000
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1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (7.4,2)

A~ 1nug1s1e+04 /25
po 4191+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (7,46

- nuiB11e+u4 / 25
- pO 4224+ 0.0
[ pl -36.62+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

T8 rge+u4 | 25
po 4247+ 0.0
p1 -34.68+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

Trnuizziie+u4 [ 25
4211+ 0.0
-35.7+ 0.0

PR IR SRR |
50 100

TP delay [ns]
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1000

TVC(cbch) (7.4,3)

AT 1 nuiz, 1u4e+u4 | 25
poee,, po 4196+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

= 1nuiLgr4e+ud [ 25
= po 4232+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

1)
T nuz ogse+ud [ 25
po 4249+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T inuiz srae+u4 /25
= pO 4233+ 0.0
p1 -36.96 + 0.00

TP delay [ns]



TVC(c,b Ch) (7,5,0) TVC(c,b Ch) (7,51) TVC(c,b Ch) (7,5,2) TVC(c,b Ch) (7, 5 3)
K- S2se 041 25 %~ 1L dose+Ud | 25 K- 14 ae+04 ] 25 ~riur save+ud 25
4000k, po 4186+ 0.0 4000, po 4192+ 0.0 4000, po 4211% 0.0 400, pO 4217+ 0.0
pL -34.9% 0.0 pl 3516+ 0.00 b PL__ -3575:000 Pl -3553:0.00

3000

1 3000 =1 3000 =1 3000 -

2000 1 2000 -1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(7,5, 4) TVC(eb.eh)=(7,5,5) TVC(ebeh)=(7,5,6) TVC(eb.eh)=(7,5,7)
- i buze+ud [ 25 “nuibl/e+u4 [ 25 - b19e+04 / 25 -1 nui byle+u4d / 25
4000k, pO 4188+ 0.0 R pO 4209+ 0.0 4000, pO 4205+ 0.0 4000 [, pO 4215+ 0.0
Pl -34.43 0.00 Pl -35.47+0.00 3 -34.9% 0.0 Pl -35.22 0.00
3000~ B 3000 — 3000 — 3000 B
2000 B 2000 - 2000 — 2000 -
1000 C - 1000 - moo: — w00 C = 28.40 [pS/Ch -
0 EY 00 0 5 100 of EY 00 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(Eben)=(7,5,8) TVC(Eben)=(7,5,9) TVC(ebeh)=(7, 5, 10) TVC(ebe=(7,5, 11)
T nuiLyrye+ud / 25 -1 b, buBe+v4 [ 25 T 1nug, zoge+u4 [ 25 T rnuiz.ul/e+u4 /25
4000 pO 4205+ 0.0 4000 pO 4218+ 00 4000 DO 4236+ 0.0 4000, p0 4240+ 0.0
Pl -36.36 0.00 Pl -36.74+ 0.00 [ Pl -3643% 0.00 Pl -36.15: 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0, L L 0 0,

o 50 00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(751 ) TVC(cbch)(7513) TVC(cbch)(751 ) TVC(cbch)(7515)
~ 1 nuiLyuse+ud / 25 T gbbe+u4 / 25 T L sbse+ud / 25 T rzye+u4 | 25
4000 pO 4237+ 0.0 4000 [, pO 4238+ 0.0 4000 e, pD 4241+ 0.0 4000 pO 4226+ 0.0
pl -36.45+ 0.00 pl -36.6 + 0.0 : pl -37.07 £ 0.00 pl -35.8+ 0.0

3000 . 3000 - 3000 - 3000 -

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (7,6,0)

A7 1 nui oyoe+ud / 25
po 4225+ 0.0
pl -36.63+ 0.00

1
100

50
TP delay [ns]
TVC(cbch) (7 6,4)
“nun 1 y4e+u4 /25
Fraese. pO 4205+ 0.0
Pl -35.29 ::‘
- C -1
1 1 )
50 100
TP delay [ns]
TVC(c,b ch) (7, 6 8

T nuzgyle+u4 | 25
po 4187+ 0.0
pl -33.92+ 0.00

0

1
100

TP delay [ns]

TVC(cbch) (7,6,12

Ty 1o/e+04 /25
pO 4199+ 0.0
pl -32.33+ 0.00

TP delay

[ns]
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1000

4000
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

x- 1 L dsoe+ud | 25
- po 4228+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nuz.0s4e+u4 [ 25
pO 4223+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 6,9

T nuiLU1be+us / 25
po 4222+ 0.0
pl -35.05+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,13

~ 1 nuiL osbe+ud / 25
pO 4234+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000
3000

2000

TVC(cbch) (7,6,2)

K™ 1 nuioole+ud /25
po 4222+ 0.0
pl -35.82+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,6

T rnuz.z29e+04 [ 25
pO 4237+ 0.0
pl -36.12+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (7, 6 10

T 3.30e+u4 /25
po 4247+ 0.0
pl -35.76 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,14

~ 1 nuiLysye+u4 | 25
DD 4248+ 0.0
-36.48 + 0.00

1000

TP delay

[ns]
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1000
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3)

AT rnuiLbsie+ud /25
po 4239+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

-1 nu.4yle+u4d / 25
- pO 4251+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

T zbue+u4/25
po 4234+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

T inuiz 1zve+ud [ 25
pO 4239+ 0.0
-35.54+ 0.00

1
100

TP delay [ns]
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,7,0)

A7 1nun szoe+04 /25
o, po 4205+ 0.0
p1 -34.68 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (77,4

- i 39ze+u4 / 25
Freee pO 4203+ 0.0
p1 -34.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

T rnuiz41ze+04 [ 25
- po 4216+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,7,12

T pyle+ud /25
= po 4222+ 0.0
pl -37.36 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

A 1L 5ase+U4 | 25
I e po 4218+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

=1 nui 4y8e+u4 [ 25
4214+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

<1 nup.1bse+ud / 25
= po 4232+ 0.0
pl -35.93 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.7,13

Tinuig1se+ud [ 25
- pO 4221+ 0.0
pl -37.61+ 0.00

50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,7,2)

A7 1nui4r4e+04 /25
P, po 4217+ 0.0
o pl -34.97+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.7,6

- 1 nuiL bbae+ud [ 25
pO 4232+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

©1nuz3uze+u4 | 25
=, po 4239+ 0.0
L pl -36.27 + 0.00

3000

0

TP delay [ns]

TVC(cbch) (7,7,14

~ 1z 1s4e+04 / 25
- pD 4219+ 0.0
L p1 -36.66 + 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

AT 1L ouse+u4 [ 25
po 4222+ 0.0
p1 -35.24 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

S nui /11e+04 / 25
pO 4234% 0.0
pL -35.78+ 0.00

TVC(c,b ch) (7, 7

50 1(;0
TP delay [ns]

1)
-1 nui gyze+u4 [ 25
po 4250+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T nuiyove+ud [ 25
po 4220+ 0.0
p1 -37.09+ 0.00

TP delay [ns]
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2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,8,0)

K™ 1 nui oyoe+ud / 25
T po 4162+ 0.0
pl -35.94 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,84

- i b3ve+ud / 25
e, pO 4178+ 0.0
pl -35.57:+ 0.00

TP delay [ns]

TVC(cbch) (7 8,8

T rnuig.zyle+u4 [ 25
po 4195+ 0.0
pl -35.06 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,812

T rnuiLgse+u4 / 25
- po 4207+ 0.0
pl -37.22+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

AT 1 nuiLbsse+ud [ 25
P s po 4176+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

=1 i bgye+u4 / 25
o pO 4186+ 0.0
p1 -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,9

T onan1uze+us /25
po 4217+ 0.0
pl -35.79 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.8,13

Tinaiyize+ud | 25
3 pO 4214+ 0.0
pl -38.02+ 0.00

N PR L}
50 100

TP delay [ns]

TVC(cbch) (7,8,2)

4000

3000
2000

1000

AT nun szse+u4 /25
e, po 4177+ 0.0
L pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (7.8,6

4000

3000

2000

1000

-1 nunLy3be+u4 / 25
F.. pO 4192+ 0.0
[ pl 36+ 0.0

TP delay [ns]

TVC(cbch) (7, 8 10

4000

3000

2000

1000

T nuig.g4ze+04 | 25
- pO 4201+ 0.0
[ p1 -33.47+ 0.00

0

TP delay [ns]

TVC(cbch) (7,814

4000

3000
2000

1000

~ 1 nuiLyuse+u4 / 25
= pD 4226+ 0.0
[ p1 -38.25+ 0.00

TP delay [ns]
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TVC(cbch) (7,.8,3)

AT rnuiL g rse+u4 [ 25
F po 4177+ 0.0
p1 -34.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,7

= 1 nuiL ude+ud | 25
E. po 4203+ 0.0
pl -36.48 + 0.00

50 1(;0
TP delay [ns]

TVC(eh.oh)=(7,8, 11

"~ nuiz.a4ae+04 / 25
e pO 4204+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(C, bch) (7.8,15

T nuiL ysoe+ud [ 25
- po 4225+ 0.0
p1 -37.63+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0)

A7 1nuiLpsie+ud /25
- po 4177+ 0.0
pl -38.98+ 0.00

TP delay [ns]

TVC(cbch) (79,4

T i, 735e+04 [ 25
e pO 4185+ 0.0
pl -36.96+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

Tz 2use+u4 | 25
- po 4189+ 0.0
pl -34.58 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,9,12

Tz 13re+04 /25
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